DOCUMENT ROUTING FORM (3) /0/3/13 (L)
NAME OF DOCUMENT: 2012-2013 Annual Storm Drainage Contract – Project 11780 Bid # 623-11048 CONTRACTOR: Ric-Man Construction Florida, Inc.
Approved Comm. Mtg. on 01-08-13 CAR# 12-2514
Item: 🛛 🗌 PH 🗍 O 🗋 CR 🗌 R 🖾 PUR-2
Routing Origin: PUBLIC WORKS DEPARTMENT/ENGINEERING
ATTACHED: Copy of CAR ACM Form 3 originals I.) Approved as to Content: Image: Capital Improvements defined as having a life of at least 10 years and a cost of at least \$50,000 and shall mean improvements to real property (land, buildings, fixtures) that add value and/or
(Public Works Director) Please Check the proper box: CIP FUNDED VYES NO 2.) Approved as to Procurement: by Approved as to Funds Available: by Approved Approved Available: by Approved Available: Approved Available: by Approved Available:
Funding Source: Amount Required by Contract/Agreement <u>\$Unit Priced Contract</u> Dept./Div <u>: PW/ENG</u> Index/Sub-object <u>PU/780.470 - 6599</u> Project <u>11780</u>
3.) City Attorney's Office: Approved as to Form:# 3 Originals to City Mgr. By: CARRIE SARVER
Harry A. Stewart Paul G. Bangel Robert B. Dunckel Ginger Wald D'Wayne Spence Cole J. Copertino Carrie Sarver J Williams-Persad B. Starting Structure Struc
4.) Approved as to content: Assistant City Manager: P By:
5.) City Manager: Please sign as indicated and forward : <u>3</u> originals to City Clerk
6.) To City Clerk for attestation and City seal. <u>3</u> originals to Clerk. <u>13 5EP 30 PH 1:5E</u>

INSTRUCTIONS TO CLERK'S OFFICE

7.) City Clerk: Date first page with last date signed, and forward 3 original documents with routing form to Rafeela, Ext. 7810

C: Project File

10/2

PUBLIC WORKS DEPARTMENT

(1)

CONTRACT

PROJECT 11780 – BID # 623-11048 IMPROVEMENT OR PROJECT NO.

2012-2013 Annual Storm Drainage Contract DESCRIPTION

Ric-Man Construction Florida, Inc. . CONTRACTOR

> Unit Price Contract AMOUNT

January 8, 2013 COMMISSION APPROVAL DATE

CITY OF FORT LAUDERDALE CONSTRUCTION AGREEMENT

THIS AGREEMENT made and entered into this <u>8th</u> day of <u>January</u>, 20<u>13</u>, by and between the <u>City of Fort Lauderdale</u>, a Florida municipal corporation (City) and, <u>Ric-Man</u> <u>Construction, Inc.</u> (Contractor), (parties);

WHEREAS, the City desires to retain a contractor for the Project as expresses in its Invitation to Bid/Request for Proposals No <u>#623-11048</u>, Project 11780 which was opened on <u>October 10, 2012</u> and,

WHEREAS, the Contractor has expresses its willingness and capability to perform the necessary work to accomplish the Project.

NOW, THEREFORE, the City and the Contractor, in consideration of the mutual covenants and conditions contained herein and for other good and valuable consideration, the receipt and sufficiency is hereby acknowledged, agree as follows:

ARTICLE 1 – DEFINITIONS

Whenever used in this Agreement or in other Contract Documents, the following terms have the meanings indicated which are applicable to both the singular and plural forms:

- 1.1 <u>Agreement</u> This written agreement between the City and the Contractor covering the work to be performed including other Contract Documents that are attached to or incorporated in the Agreement.
- 1.2 <u>Application for Payment</u> The form accepted by the City which is to be used by the Contractor in requesting progress or final payment and which is to include such supporting documentation as is required by the Contract Documents
- 1.3 <u>Approve</u> The word approve is defined to mean review of the material, equipment or methods for general compliance with design concepts and with the design concepts and with the information given in the Contract Documents. It does not imply a responsibility on the part of the City to verify in every detail conformance with plans and specifications.
- 1.4 <u>Bid</u> The offer or Bid of the Contractor submitted on the prescribed form setting forth the total prices for the Work to be performed.
- 1.5 <u>Bid Documents</u> –This Agreement, advertisement for Invitation to Bids, the Instructions to Bidders, the Bid Form (with supplemental affidavits and agreements), the Contract Forms, General Conditions, the Supplementary Conditions, the Specifications, and the Plans, which documents all become an integral part of the Contract Documents.
- 1.6 <u>Certificate of Substantial Completion</u> Certificate provided by the City certifying that all Work, excluding the punch list items, has been completed, inspected, and accepted by the City.

- 1.7 <u>Change Order</u> A written order to the Contractor signed by the City authorizing an addition, deletion or revision in the Work, or an adjustment in the Contract Price or the Contract time issued on or after the Effective Date of the Agreement.
- 1.8 <u>City</u> The City of Fort Lauderdale, Florida including but not limited to its employees, agents, officials, representative, contractors, subcontractors, volunteers, successors and assigns, with whom the Contractor has entered into the Agreement and for whom the Work is to be provided. The Project Manager, or designee, shall be the authorized agent for the City unless otherwise specified.
- 1.9 <u>Contract Documents</u> The Contract Documents shall consist of this Agreement, the Drawings, Plans and Specifications, Notice to Proceed, Certificate(s) of Insurance, Payment and Performance Bonds and any additional documents that are required to be submitted under the Agreement, and all amendments, modifications and supplements, change orders and work directive changes issued on or after the Effective Date of the Agreement.
- 1.10 <u>Contract Price</u> The monies payable to the Contractor by the City under the Contract Documents and in accordance with the line item unit prices listed in the Bid.
- 1.11 <u>Contract Time</u> The number of calendar days stated in the Agreement for the completion of the Work. The dates on which the work shall be started and shall be completed as stated in the Notice to Proceed.
- 1.12 <u>Contractor</u> The person, firm, company, or corporation with whom the City has entered into the Agreement, including but not limited to its employees, agents, representatives, contractors, subcontractors, their subcontractors and their other successors and assigns.
- 1.13 <u>Day</u> A calendar day of twenty-four (24) hours ending at midnight.
- 1.14 <u>Defective</u> An adjective which when modifying the work "Work" refers to work that is unsatisfactory, faulty, or deficient, or does not conform to the Contract Documents or does not meet the requirements of any inspection, test or approval referred to in the Contract Documents, or has been damaged prior to the Project Manager's recommendation of final payment.
- 1.15 <u>Effective Date of the Agreement</u> The date indicated in the Agreement on which it becomes effective, but if no such date is indicated, it means the date on which the Agreement is signed and delivered by the last of the Parties to sign and deliver.
- 1.16 <u>Final Completion Date</u> The date the Work is completed, including completion of the final punch list, and delivered along with those items specified in the Contract Documents and is accepted by the City.

1.17 <u>Hazardous Materials (HAZMAT)</u> - Any solid, liquid, or gaseous material that is toxic, flammable, radioactive, corrosive, chemically reactive, or unstable upon prolonged storage in quantities that could pose a threat to life, property, or the environment defined in Section 101(14) of Comprehensive Environmental Response, Compensation and Liability Act of 1980 and in 40 CFR 300.6). Also defined by 49 CFR 171.8 as a substance or material designated by the Secretary of Transportation to be capable of posing an unreasonable risk to health, safety, and property when transported in commerce and which has been so designated.

1.18 <u>Hazardous Substance</u> - As defined by Section 101(14) of the Comprehensive Environmental Response, Compensation and Liability Act; any substance designated pursuant to Section 311(b) (2) (A) of the Clean Water Act; any element, compound, mixture, solution or substance designated pursuant to Section 102 identified under or listed pursuant to Section 3001 of the Solid Waste Disposal Act {but not including any waste listed under Section 307[a] of the Clean Water Act}; any hazardous air pollutant listed under Section 112 of the Clean Air Act; and any imminently hazardous chemical substance or mixture pursuant to Section 7 of the Toxic Substances Control Act. The term does not include petroleum, including crude oil or any fraction thereof, which is not otherwise specifically listed or designated as a hazardous substance in the first sentence of this paragraph, and the term does not include natural gas, natural gas liquids, liquefied natural gas, or synthetic gas usable for fuel (or mixtures of natural gas and such synthetic gas}.

- 1.19 <u>Hazardous Waste</u> Those solid wastes designated by OSHA in accordance with 40 CFR 261 due to the properties of ignitability, corrosivity, reactivity, or toxicity. Any material that is subject to the Hazardous Waste Manifest requirements of the EPA specified in 40 CFR Part 262.
- 1.20 <u>Holidays</u> Those designated non-work days as established by the City Commission of the City of Fort Lauderdale.
- 1.21 <u>Inspection</u> The term "inspection" and the act of inspecting as used in this Agreement is defined to mean the examination of construction to ensure that it conforms to the design concept expressed in the plans and specifications. This term shall not be construed to mean supervision, superintending and/or overseeing.
- 1.22 <u>Notice of Award</u> The written notice by City to the Contractor stating that upon compliance by the Contractor with the conditions precedent enumerated therein, within the time specified that the City will sign and deliver this Agreement.
- 1.23 <u>Notice to Proceed</u> A written notice given by the City to the Contractor fixing the date on which the Contract Time will commence to run and on which the Contract Time will end.
- 1.24 <u>Plans</u> The drawings which show the character and scope of the work to be performed and which have been prepared or approved by the City and are referred to in the Contract Documents.

- 1.25 <u>Premises (otherwise known as Site or Work Site)</u> means the land, buildings, facilities, etc. upon which the Work is to be performed.
- 1.26 <u>Project</u> The total construction of the Work to be provided as defined in the Contract Documents.
- 1.27 <u>Project Manager</u> The employee of the City, or other designated individual who is herein referred to as the Project Manager, will assume all duties and responsibilities and will have the rights and authorities assigned to the Project Manager in the contract Documents in connection with completion of the Work in accordance with this Agreement.
- 1.28 <u>Punch List</u> The City's list of Work yet to be done or be corrected by the Contractor, before the Final Completion date can be determined by the City.
- 1.29 <u>Record Documents</u> A complete set of all specifications, drawings, addenda, modifications, shop drawings, submittals and samples annotated to show all changes made during the construction process.
- 1.30 <u>Record Drawings or "As-Builts"</u> A set of drawings which show significant changes in the work made during construction and which are usually based on drawings marked up in the field and other data furnished by the contractor. These documents will be signed and sealed by the Engineer of Record or a Professional Land Surveyor licensed in the State of Florida.
- 1.31 <u>Substantially Completed Date</u> A date when the Contractor has requested in writing, stating that the Work is substantially completed and is ready for an inspection and issuance of a final punch list for the Project.
- 1.32 <u>Work</u> The entire completed delivered product or the various separately identifiable parts thereof required to be furnished under the Contract Documents. Work is the result of performing services, furnishing labor and furnishing and incorporating material and equipment into the product, all as required by the Contract Documents.

ARTICLE 2 – SCOPE OF WORK

2.1 The Contractor shall complete all work as specified or indicated in the Contract Documents. The Project for which the Work under the Contract Documents may be the whole or only part is generally described as follows:

2012-2013 Annual Storm Drainage Contract ITB #623-11048 PROJECT 11780

2.2 All Work for the Project shall be constructed in accordance with the Drawings and Specifications. The Work generally involves:

PROJECT DESCRIPTION

The work includes furnishing all labor, equipment, materials and performing all related operations in connection with the construction of various storm drainage projects throughout the City. Projects primarily include the restoration, testing and all installation of storm pipelines ranging in size from 8 to 72 inches, storm basins and manholes of various sizes, exfiltration trenches, storm drainage wells, maintenance of storm valves and other storm water drainage components.

2.3 Within ten (10) days of the execution of this Agreement, the Contractor shall submit a Construction Schedule, Schedule of Values and a listing of those subcontractors that will be utilized by the Contractor. The general sequence of the work shall be submitted by the Contractor and approved by the City before any work commences. The City reserves the right to issue construction directives necessary to facilitate the Work or to minimize any conflict with operations.

ARTICLE 3 – PROJECT MANAGER

3.1 The Project Manager is hereby designated by the City as Elkin Diaz, P.E., whose address is <u>N 100 Andrews Avenue</u>, Fort Lauderdale, 33301. The Project Manager will assume all duties and responsibilities and will have the rights and authorities assigned to the Project Manager in the Contract Documents in connection with completion of the Work in accordance with this Agreement.

ARTICLE 4 – CONTRACT DOCUMENTS

The Contract Documents which comprise the entire Agreement between the City and Contractor are attached to this Agreement, are made a part hereof and consist of the following:

4.1 This Agreement.

- 4.2 Exhibits to this Agreement (Plans (sheets [DS1] to [DS48] inclusive)).
- 4.3 Public Construction Bond, Performance Bond, Payment Bond and Certificates of Insurance.
- 4.4 Notice of Award and Notice to Proceed.
- 4.5 General Conditions as amended by the Special Conditions.
- 4.6 Technical Specifications.
- 4.7 Plans
- 4.8 Addenda number ______ through ______, inclusive.
- 4.9 Bid Form and supplement Affidavits and Agreements.
- 4.10 All applicable provisions of State and Federal Law and any modification, including Change Orders or written amendments duly delivered after execution of Agreement.

- 4.11 Invitation to Bid No. #623-11048, Project 11780 Instructions to Bidders and Bid Bond.
- 4.12 Contractor's response to the City's Invitation to Bid No. <u>#623-11048, Project 11780</u> date <u>October 10, 2012.</u>
- 4.13 Schedule of Completion and Schedule of Values.
- 4.14 Permits on file with the City and or those permits to be obtained shall be considered directive in nature and will be considered a part of this Agreement. A copy of all permits shall be given to the City for inclusion in the Contract Documents. Terms of permits shall be met prior to acceptance of the Work and release of the final payment.

There are not Contract Documents other than those listed in this Article 4. The Contract Documents may only be altered, amended, or repealed in accordance with the provisions of the terms of this Agreement.

In the event of any conflict between the documents or any ambiguity or missing specification or instruction, the following priority is established:

- a. Specific direction from the City Manager (or designee)
- b. This Agreement dated <u>January 8, 2013</u> and any attachments.
- c. Invitation to Bid No. <u>#623-11048</u>, Project 11780 and the specifications prepared by the City.
- d. Contractor's response to the City's Invitation to Bid No. <u>#623-11048, Project 11780</u> date <u>October 10, 2012</u>
- e. Schedule of Values.
- f. Schedule of Completion.

If during the performance of the Work, Contractor finds a conflict, error or discrepancy in the Contract Documents, Contractor shall so report to the Project Manager, in writing, at once and before proceeding with the Work affected shall obtain a written interpretation or clarification from the City.

It is the intent of the specifications and plans to describe a complete Project to be constructed in accordance with the Contract Documents. Any Work that may reasonably be inferred from the specifications or plans as being required to produce the intended result shall be supplied whether or not it is specifically called for. When words which have a well-known technical or trade meaning are used to describe Work, materials, or equipment, such works shall be interpreted in accordance with such meaning. Reference to standard specifications, manuals or codes of any technical society, organization or associations, or to the code of any governmental authority whether such reference be specific or implied, shall mean the latest standard specification, manual or code in effect as of the Effective Date of this Agreement, except as may be otherwise specifically stated. However, no provision of any referenced standard specification, manual or code (whether or not specifically incorporated by reference in the Contract Documents) shall change the duties and responsibilities of the City, the Contractor, or any of their agents or employees from those set forth in the Contract Documents.

ARTICLE 5 – CONTRACT TIME

- 5.1 The Contractor recognizes that **TIME IS OF THE ESSENCE**. The Work shall commence within <u>30</u> calendar days of the date of the Notice to Proceed.
- 5.2 The Work shall be Substantially Completed within ____ calendar days after the date when the Contract Time commences to run as provide in the Notice to Proceed.
- 5.3 The Work shall be finally completed on the Final Completion Date and ready for final payment in accordance with this Agreement with _____ calendar days after the date when the Contract Time commences to run as provide in the Notice to Proceed.

ARTICLE 6 – CONTRACT PRICE

- 6.1 City shall pay Contractor for performance of the Work in accordance with Article 7, subject to additions and deletions by Change Order, as provided for in this Agreement.
- 6.2 The parties expressly agree that the Contract Price in the not to exceed amount of \$2,953,358.00 constitutes the total maximum compensation payable to Contractor for performing the Work, plus any Work done pursuant to a Change Order. The Contract Price is in accordance with the line item unit prices listed in the Bid. Line item's are based on a unit price cost multiplied by a defined quantity. Any additional duties, responsibilities and obligations assigned to or undertaken by Contractor shall be at Contractor's expense without change to the Contract Price.
- 6.3 The Contract Price constitutes the compensation payable to Contractor for performing the Work plus any Work done pursuant to a Change Order. All duties responsibilities and obligations assigned to or undertaken by Contractor shall be at Contractor's expense without change in the Contract price.

ARTICLE 7 – PAYMENT PROCEDURES

- 7.1 Contractor shall submit Applications for Payment in accordance with the Contract Documents. Applications for Payment will be processed by City as provided in the General Conditions.
- 7.2 Progress Payments. City shall make progress payments on account of the Contract Price on the basis of Contractor's monthly Applications for Payment, which shall be submitted by the Contractor between the first (1st) and the tenth (10th) day after the end of each calendar month for which payment is requested. All progress payments will be made on the basis of the progress of the Work completed.

- 7.3 Prior to Final Completion, progress payments will be made in an amount equal to ninety percent (90%) of the value of Work completed less in each case the aggregate of payments previously made.
- 7.4 Final Payment. Upon final completion of the Work in accordance with the General Conditions, as may be supplemented, the City shall pay Contractor an amount sufficient to increase total payments to one-hundred percent (100%) of the Contract Price. However, not less than ten percent (10%) of the Contract Price shall be retained until Record Drawings (as-builts), specifications, addenda, modifications and shop drawings. Including all manufacturers' instructional and parts manuals are delivered to and accepted by the City.
- 7.5 The City shall make payment to the Contractor in accordance with the Florida Prompt Payment Act, Section 218.70, Florida Statutes.
- 7.6 The City shall make payment to the Contractor through utilization of the City's P-Card Program.

ARTICLE 8 – CONTRACTOR'S REPRESENTATIONS

In order to induce the City to enter into this Agreement, Contractor makes the following representations upon which the City has relied:

- 8.1 Contractor is qualified on the field of public construction and in particular to perform the Work and services set forth in this Agreement.
- 8.2 Contractor has visited the Work Site has conducted extensive tests, examinations and investigations and represents and warrants a thorough familiarization with the nature and extent of the Contract Documents, the Work, locality, soil conditions, moisture conditions and all year-round local weather and climate conditions (past and present), and, in reliance on such tests, examination and investigations conducted by Contractor and the Contractor's experts, has determined that no conditions exist that would in any manner affect the Proposed Price and that the project can be completed for the Proposed Price submitted. Furthermore, Contractor to comply with all federal, state and local laws, ordinances, rules, regulations and all market conditions that affect or may affect the cost and price of materials and labor needed to fulfill all provisions of this Agreement or that in any manner may affect cost, progress or performance of the Work.
- 8.3 The Contractor has satisfied itself as to the nature and location of the Work under the Contract Documents, the general and local conditions of the Project, particularly those bearing upon availability of transportation, disposal, handling and storage of materials, availability of labor, water, electric power, and roads, the conformation and conditions at the ground based on City provided reports, the type of equipment and facilities needed preliminary to and during the prosecution of the Work and all other matters

which can in any way affect the Work or the cost thereof under the Contract Documents.

- 8.4 The Contractor has also studied carefully all reports of investigations and tests of subsurface and latent physical conditions at the site or otherwise affecting cost, progress or performance of the Works, and finds and has further determined that no conditions exist that would in any manner affect the Proposed Price and that the project can be completed for the Proposed Price submitted.
 - 8.5 Contractor has made or caused to be made examinations, investigations, tests and studies of such reports and related data in addition to those referred to in Paragraphs 8.2, 8.3 and 8.4 above as he deems necessary for the performance of the Work at the Contract Prices, within the Contract Time and in accordance with the other terms and conditions of the Contract Documents; and no additional examinations, investigations, tests, reports or similar data are, or will be, required by Contractor for such purposes.
- 8.6 Contractor has correlated the results of all such observations, examinations, investigations, tests, reports and data with the terms and conditions of the Contract Documents.
- 8.7 Contractor has given City written notice of all conflicts, errors or discrepancies that he has discovered in the Contract Documents and the written resolution by City is acceptable to the Contractor.
- 8.8 Labor
 - 8.8.1 The Contractor shall provide competent, suitable qualified personnel to survey and lay out the Work and perform construction as required by the Contract Documents. The Contractor shall at all times maintain good discipline and order at the site.
 - 8.8.2 The Contractor shall, at all times, have a competent superintendent, capable of reading and thoroughly understanding the drawings and specifications, as the Contractor's agent on the Work, who shall, as the Contractor's agent, supervise, direct and otherwise conduct the Work.
 - 8.8.3 The Contractor shall designate the superintendent on the job to the City, in writing, immediately after receipt of the Notice to Proceed. The Contractor understands and agrees that the superintendent's physical presence on the job site is indispensable to the successful completion of the Work. If the superintendent is frequently absent from the job site, the Project Manager may deliver written notice to the Contractor to stop work or terminate the Contract in accordance with Article 17.
 - 8.8.4 The Contractor shall assign personnel to the job site that have successfully completed training programs related to trench safety, confined space and maintenance of traffic. A certified "competent person" shall be assigned to the job site. Personnel certified by the International Municipal Signal Associations with Florida Department of Transportation qualifications are required relative to maintenance of traffic. Failure to pursue the Work with the properly certified

supervisory staff may result in notice to stop work or terminate the Contract in accordance with Article 17.

8.9 Materials:

- 8.9.1 The Contractor shall furnish all materials, equipment, labor, transportation, construction equipment and machinery, tools, appliances, fuel, power, light, heat, telephone, water and sanitary facilities and all other facilities and incidentals necessary for the execution, testing, initial operation and completion of Work.
- 8.9.2 All material and equipment shall be of good quality and new, except as otherwise provided in the Contract Documents. Suppliers shall be selected and paid by the Contractor; the City reserves the right to approve all suppliers and materials.
- 8.10 <u>Work Hours:</u> Except in connection with the safety or protection of persons, or the Work, or property at the site or adjacent thereto, and except as otherwise indicated in the Supplementary Conditions, all work at the site shall be performed during regular working hours between 7 a.m. and 6:00 p.m., Monday through Friday. The Contractor will not permit overtime work or the performance of work on Saturday, Sunday or any legal holiday (designated by the City of Fort Lauderdale) without the Project Manager's written consent at least seventy two (72) hours in advance of starting such work. If the Project Manager permits overtime work, the Contractor shall pay for the additional charges to the City with respect to such overtime work. Such additional charges shall be a subsidiary obligation of the Contractor and no extra payment shall be made to the Contractor for overtime work. The cost to the Contractor to reimburse the City for overtime inspection is established at direct-labor and overtime costs for each person or inspector required. Incidental overtime costs for engineering, testing and other related services will also be charged to the Contractor at the actual rate accrued.
- 8.11 <u>Patent Fee and Royalties:</u> The Contractor shall pay all license fees and royalties and assume all costs incident to the use in the performance of the Work or the incorporation in the Work, or any invention, design, process, product or device which is the subject of patent rights or copyrights held by others. The Contractor hereby expressly binds himself or itself to indemnify and save harmless the City from all such claims and fees and from any and all suits and action of every name and description that may be brought against City on account of any such claims, fees, royalties, or costs for any such invention or patent, and from any and all suits or actions that may be brought against said City for the infringement of any and all patents or patent rights claimed by any person, firm corporation or other entity.
- 8.12 <u>Permits:</u> The Contractor shall obtain and pay for all permits and licenses. There shall be no allowance for Contractor markup, overhead or profit for permits and licenses. The Contractor shall pay all government charges which are applicable at the time of opening of proposals. It shall be the responsibility of the Contractor to secure and pay for all necessary licenses and permits of a temporary nature necessary for the prosecution of Work.

- 8.13 <u>Law and Regulations:</u> The Contractor shall give all notices and comply with all laws, ordinances, rules and regulations applicable to the Work. If the Contractor observes that the specifications or plans are at variance therewith, the Contractor shall give the Project Manager prompt written notice thereof, and any necessary changes shall be adjusted by an appropriate modifications. If the Contractor performs any work knowing or having reason to know that it is contrary to such laws, ordinance, rules and regulations, and without such notice to the Project Manager, the Contractor shall be all costs arising therefrom; however, it shall not be the Contractor's primary responsibility to make certain that the specifications and plans are in accordance with such laws, ordinances, rules and regulations.
- 8.14 <u>Taxes:</u> The Contractor shall pay all sales, consumer, use and other similar taxes required to be paid by him in accordance with the laws of the City of Fort Lauderdale, County of Broward, State of Florida.
- 8.15 <u>Contractor Use of Premises:</u> The Contractor shall confine construction equipment, the storage of materials and equipment and the operations of workmen to areas permitted by law, ordinances, permits and/or the requirements of the Contract Documents, and shall not unreasonably encumber the premises with construction equipment or other materials or equipment.

The Contractor shall not enter upon private property for any purpose without first securing the permission of the property owner in writing and furnishing the Project Manager with a copy of said permission. This requirement will be strictly enforced, particularly with regard to such vacant properties as may be utilized for storage or staging by the Contractor.

The Contractor shall conduct his work in such a manner as to avoid damage to adjacent private or public property. Any damage to existing structures of work of any kind, including permanent reference markers or property corner markers, or the interruption of a utility service, shall be repaired or restored promptly at no expense to the City.

The Contractor will preserve and protect all existing vegetation such as trees, shrubs and grass on or adjacent to the site which do not reasonably interfere with the construction, as determined by the Project Manager. The Contractor will be responsible for repairing or replacing any trees, shrubs, lawns and landscaping that may be damaged due to carless operation of equipment, stockpiling of materials, tracking of grass by equipment or other construction activity. The Contractor will be liable for, or will be required to replace or restore at no expense to the City all vegetation not protected or preserved as required herein that may be destroyed or damaged.

During the progress of the work, the Contractor shall keep the premises free from accumulations of waste materials, rubbish and debris resulting from the Work. At the completion of the Work, the Contractor shall remove all waste materials, rubbish and debris from and about the premises as well as all tools, appliances, construction equipment and machinery, and surplus materials and shall leave the site clean and ready for occupancy by the City. The Contractor shall restore to their original condition

those portions of the site not designated for alteration by the Contract Documents at no cost to the City.

- 8.16 <u>Project Coordination</u>: The Contractor shall provide for the complete coordination of the construction effort. This shall include, but not necessarily be limited to, coordination of the following:
 - 8.16.1 Flow of material and equipment from suppliers.
 - 8.16.2 The interrelated work with affected utility companies.
 - 8.16.3 The interrelated work with the City where tie-ins to existing facilities are required.
 - 8.16.4 The effort of independent testing agencies.
 - 8.16.5 Notice to affected property owners as may be directed by the Project Manager.
- 8.17 <u>Project Record Documents and As-Builts (Record Drawings):</u> The Contractor shall keep one record copy of all specifications, plans addenda, modifications, shop drawings and samples at the site, in good order and annotated to show all changes made during the construction process. These shall be available to the Project Manager for examination and shall be delivered to the Project Manager upon completion of the Work. Upon completion of the project and prior to final payment, an as-built (record drawings) of the Project shall be submitted to the Project Manager. The as-built drawings shall be signed and sealed by a Florida Registered Professional Surveyor and Mapper, Engineer, Architect or Landscape Architect depending on the type drawing.

8.18 Safety and Protection:

- 8.18.1 The Contractor shall be responsible for initiating, maintaining and supervising all safety precautions and programs in connection with the Work. The Contractor shall take all necessary precautions for the safety of, and shall provide the necessary protection to prevent damage, injury or loss to:
 - 8.18.1.1 All employees working on the project and other persons who may be affected thereby.
 - 8.18.1.2 All the Work and all materials or equipment to be incorporated therein, whether in storage on or off the site.
 - 8.18.1.3 Other property at the site or adjacent thereto, including trees, shrubs, lawns, walks, pavements, roadways, structures and utilities not designated for removal, relocation or replacement in the course of construction.
- 8.18.2 The Contractor shall comply with all applicable laws, ordinances, rules, regulations and orders of any public body having jurisdiction for the safety of persons or property or to protect them from damage, injury or loss; and shall erect and maintain all necessary safeguards for such safety and protection. The Contractor shall notify owners of adjacent property and utilities when prosecution of the Work may affect them at least seventy two (72) hours in advance (unless otherwise required). All damage, injury or loss to any property caused, directly or indirectly, in whole or in part by the Contractor, any

subcontractor or anyone directly or indirectly employed by any of them or anyone for whose acts any of them may be liable, shall be remedied by the Contractor. The Contractor's duties and responsibilities for safety and protection of the Work shall continue until such time as all the Work is completed and accepted by the City.

- 8.19 <u>Emergencies:</u> In emergencies affecting the safety or protection of persons or the Work or property at the site or adjacent thereto, the Contractor, without special instruction or authorization from the City is obligated to act to prevent threatened damage, injury or loss. The Contractor shall give the Project Manager prompt written notice of any significant changes in the Work or deviations from the Contract Documents caused thereby.
- 8.20 <u>Risk of Loss</u>: The risk of loss, injury or destruction shall be on the Contractor until acceptance of the Work by the City. Title to the Work shall pass to the City upon acceptance of the Work by the City.
- 8.21 <u>Environmental:</u> The Contractor has fully inspected the Premises and agrees, except as to the presence of any asbestos, to accept the Premises in an "as is" physical condition, without representation or warranty by the City of any kind, including, without limitation, any and all existing environmental claims or obligations that may arise from the presence of any "contamination" on, in or about the Premises. Further, Contractor and all entitles claiming by, through or under the Contractor, releases and discharges the City, from any claim, demand, or cause of action arising out of or relating to the Contractor's use, handling, storage, release, discharge, treatment, removal, transport, decontamination, cleanup, disposal and/or presence of any hazardous substances including asbestos on, under, from or about the Premises. The Contractor shall have no liability for any pre-existing claims or "contamination" on the Premises.

The Contractor shall not use, handle, store, discharge, treat, remove, transport, or dispose of Hazardous Substances including asbestos at, in, upon, under, to or from the Premises until receipt of instructions from the City. As such time, a City approved Change Order, which shall not include any profit, shall authorize the Contractor to perform such services.

The Contractor shall immediately deliver to the Project Manager complete copies of all notices, demands, or other communications received by the Contractor from any governmental or quasi-governmental authority or any insurance company or board of fire underwriters or like or similar entities regarding in any way alleged violations or potential violations of any Environmental Law or otherwise asserting the existence or potential existence of any condition or activity on the Premises which is or could be dangerous to life, limb, property, or the environment.

For other and additional consideration, the Contractor hereby agrees, at its sole cost and expense, to indemnify and protect, defend, and hold harmless the City and its respective employees, agents, officials, officers, representatives, contractors and subcontractors, successors, and assigns (hereafter the "City") from and against any and all claims, demands, losses, damages, costs, expenses, including but not limited to mitigation, restoration, and natural restoration expenses, liabilities, assessments, fines, penalties charges, administrative and judicial proceedings and orders, judgments, causes of action, in law or in equity, remedial action requirements and/or enforcement actions of any kind (including, without limitation, attorneys' fees and costs) directly or indirectly arising out of or attributable to, in whole or in part, the Contractor's use, handling, storage, release, threatened release, discharge, treatment, removal, transport, decontamination, cleanup, disposal and/or presence of a Hazardous Substance (excluding asbestos) on, under, from, to or about the Premises or any other activity carried on or undertaken on or off the Premises by the Contractor or its employees, agents or subcontractors, in connection with the use, handling, storage, release, threatened release, discharge, treatment, mitigation, natural resource restoration, removal, transport, decontamination, cleanup, disposal and/or presence or any Hazardous Substance including asbestos located, transported, or presence or any Hazardous Substance including asbestos located, transported, or present on, undue, from, to, or about the Premises. This indemnity is intended to be operable under 42 U.S.C. sections 9607, as amended, and any successor section.

The scope of the indemnity obligations includes, but is not limited to: (a) all consequential damages; (b) the cost of any required or necessary repair, cleanup, or detoxification of the applicable real estate and the preparation and implementation of any closure, remedial or other required plan, including without limitation; (i) the costs of removal or remedial action incurred by the United Station government or the State of Florida or response costs incurred by any other person, or damages from injury to destruction of, or loss of, natural resources, including the cost of assessing such injury, destruction, or loss, incurred pursuant to the Comprehensive Environmental Response, Compensation and Liability Act, as amended; (ii) the clean-up costs, fines, damages, or penalties incurred pursuant to any applicable provisions of Florida law; and (iii) the cost and expenses of abatement, correction or cleanup, fines, damages, responses costs, or penalties which arise from the provisions of any other statue, law, regulation, code ordinance, or legal requirement state or federal; and (c) liability for personal injury or property damage arising under any statutory or common law tort theory, including damages assessed for the maintenance of a public private nuisance, response costs, or for the carrying on of an abnormally dangerous activity.

- 8.22 <u>No Extended Damages</u>: For other and additional good and valuable consideration the receipt and sufficiency of which is hereby acknowledged, the Contractor covenants and agrees that in the event of any delay of construction or for any other reason or allegation or claim, and notwithstanding the reason of the delay, reason, claim or allegation or who caused them or the construction delay or whether they were caused by the City, that there will be no entitlement to Contractor to or for any direct or indirect financial damages or losses for extended corporate overhead impact, extended project overhead impacts, project support services, mobilization or demobilization or by whatever other label or legal concept or theory and types of names or labels or basis such claims may have, or any business damages or losses of whatever type or nature, and Contractor hereby waives any right to make any such claim or claims. This provision will have application and effect when construction delays are anticipated and agreed upon by both the City and the Contractor.
- 8.23 <u>No Liens:</u> If any Subcontractor, supplier, laborer, or materialmen of Contractor or any other person directly or indirectly acting for or through Contractor files or attempts to file a mechanic's or construction lien against the real property on which the work is

performed or any part or against any personal property or improvements or claim against any monies due or to become due from the City to Contractor or from Contractor to a Subcontractor, for or on account of any work, labor, services, material, equipment, or other items furnished in connection with the Work or any Change Order, Contractor agrees to satisfy, remove, or discharge such lien or claim at its own expense by bond, payment, or otherwise within twenty (20) days of the filing or from receipt of written notice from the City.

Additionally, until such time as such lien or claim is satisfied, removed or discharged by Contractor, all monies due to Contractor, or that become due to Contractor before the lien or claim is satisfied, removed or otherwise discharged, shall be held by City as security for the satisfaction, removal and discharge of such lien and any expense that may be incurred while obtaining such. If Contractor shall fail to do so, City shall have the right, in addition to all other rights and remedies provided by this Agreement or by law, to satisfy, remove, or discharge such lien or claim by whatever means City chooses at the entire and sole cost and expense of Contractor which costs and expenses shall, without limitation, include attorney's fees, litigation costs, fees and expenses and all court costs and assessments.

8.24 <u>Weather Emergencies</u>: Upon issuance of a Hurricane Watch by the National Weather Service, the Contractor shall submit to the City a plan to secure the work area in the event a Hurricane Warning is issued. The plan shall detail how the Contractor will secure the Premises, equipment and materials in a manner as to prevent damage to the Work and prevent materials and equipment from becoming a hazard to persons and property on and around the Premises. The plan shall include a time schedule required to accomplish the hurricane preparations and a list of emergency contacts that will be available and in the City before, during and immediately after the storm.

Upon issuance of a Hurricane Warning by the National Weather Service, if the Contractor has not already done so, the Contractor shall implement its hurricane preparedness plan. Cost of development and implementation of the hurricane preparedness plan shall be considered as incidental to construction. Cost of any clean up and rework required after the storm will be considered normal construction risk within Florida and shall not entitle the Contractor to any additional compensation. Contractor shall be entitled to request an extension in time for completion of the Work, in accordance with the provisions of Article 15 of this Agreement, equal to the time he is shut down for implementation of the Premises.

8.25 <u>Force Majeure:</u> No Party shall hold the other responsible for damages or for delays in performance caused by force majeure, acts of God, or other acts or circumstances beyond the control of the other party or that could not have been reasonably foreseen and prevented. For this purposes, such acts or circumstances shall include, but not be limited to weather conditions affecting performance, floods, epidemics, war, riots, strikes, lockouts, or other industrial disturbances, or protect demonstrations. Should such acts or circumstances occur, the parties shall use their best efforts to overcome the difficulties arising therefrom and to resume the Work as soon as reasonably possible with the normal pursuit of the Work.

Inclement weather, continuous rain for less than three (3) days or the acts or omissions of subcontractors, third-party contractors, materialmen, suppliers, or their subcontractors, shall not be considered acts of force majeure.

No Party shall be liable for its failure to carry out its obligations under the Agreement during a period when such Party is rendered unable by force majeure to carry out its obligation, but the obligation of the Party or Parties relying on such force majeure shall be suspended only during the continuance of the inability and for no longer period than the unexpected or uncontrollable event.

The Contractor further agrees and stipulates, that its right to excuse its failure to perform by reason of force majeure shall be conditioned upon giving written notice of its assertion that a Force Majeure delay has commenced within 96 hours after such an occurrence. The CONTRACTOR shall use its reasonable efforts to minimize such delays. The CONTRACTOR shall promptly provide an estimate of the anticipated additional time required to complete the Project.

ARTICLE 9 – CITY'S RESPONSIBILITES

- 9.1 The City shall furnish the data required of the City under the Contract Documents promptly and shall make payments to the Contractor promptly after they are due as provided in Article 7.
- 9.2 The City's duties in respect of providing lands and easements and providing engineering surreys to establish reference points are set forth in the Contract Documents.
- 9.3 <u>Technical Clarifications and Interpretations:</u>
 - 9.3.1 The City shall issue, with reasonable promptness, such written clarifications or interpretations of the Contract Documents as it may determine necessary, which shall be consistent with or reasonably inferable from the overall intent of the Contract Documents. Should the Contractor fail to request interpretation of questionable items in the Contract Documents, the City shall not entertain any excuse for failure to execute the Work in a satisfactory manner.
 - 9.3.2 The City shall interpret and decide matters concerning performance under the requirements of the Contract Documents, and shall make decisions on all claims, disputes or other matters in question. Written notice of each claim, dispute or other matter will be delivered by claimant to the other Party but in no event later than five (5) days after the occurrence of event, and written supporting date will be submitted to the other Party within five (5) days after such occurrence. All written decisions of the City on any claim or dispute will be final and binding.
- 9.4 The Contractor shall perform all Work to the reasonable satisfaction of the City in accordance with the Contract Documents. In cases of disagreement or ambiguity, the City shall decide all questions, difficulties, and disputes of whatever nature, which may

arise under or by reason of this Agreement or the quality, amount and value of the Work, and the City's decisions on all claims, questions and determination are final.

ARTICLE 10 – BONDS AND INSURANCE

- 10.1 Public Construction and Other Bonds: The Contractor shall furnish Public Construction or Performance and Payment Bonds ("Bond"), each in an amount at least equal to the Contract Price as security for the faithful performance and payment of all the Contractor's obligations under the Contract Documents. These Bonds shall remain in effect until at least one (1) year after the date of final payment, except as otherwise provided by law. All Bonds shall be furnished and provided by the surety and shall be in substantially the same form as prescribed by the Contract Documents and be executed by such sureties as (i) are licensed to conduct business in the State of Florida, and (ii) are named in the current list of Companies Holding Certificates of Authority as Acceptable Sureties on Federal Bonds and as Acceptable Reinsuring Companies as published in Circular 570 (amended) by the Audit Staff Bureau of Accounts, U.S. Treasury Department and (iii) otherwise meet the requirements set forth herein that apply to sureties. All Bonds signed by an agent must be accompanied by a certified copy of the authority to act.
 - 10.1.1 <u>Performance Bond:</u> A Corporate Surety Bond legally issued, meeting the approval of, and running to the City in an amount not less than the Contract Price of such improvements, conditioned that the Contractor shall maintain and make all repairs to the improvements constructed by the Contractor at their own expense and free of charge to the City, for the period of one (1) year after the date of acceptance of the Work within such period by reason of any imperfection of the material used or by reason of any defective workmanship, or any improper, imperfect or defective preparation of the base upon which any such improvement shall be laid.
- 10.2 <u>Disqualification of Surety:</u> If the Surety on any Bond furnished by the Contractor is declared bankrupt or becomes insolvent or its right to do business is terminated in the State of Florida or it ceases to meet the requirements of clauses (i) and (ii) of Paragraph 10.1, the Contractor shall within five (5) days thereafter substitute another Bond and Surety, both of which shall be acceptable to the City.

10.3 Insurance

10.3.1 Contractor shall provide and shall require all of its sub-contractors to provide, pay for, and maintain in force at all times during the term of the Agreement, such insurance, including Property Insurance (Builder's Risk), Commercial General Liability Insurance, Business Automobile Liability Insurance, Workers' Compensation Insurance, Employer's Liability Insurance, and Umbrella / Excess Liability, as stated below. Such policy or policies shall be issued by companies authorized to do business in the State of Florida and having agents upon whom service of process may be made in the State of Florida.

- A. The City is required to be named as additional insured on the Commercial General Liability insurance policy. <u>BINDERS ARE</u> <u>UNACCEPTABLE</u>. The insurance coverage required shall include those classifications, as listed in standard liability insurance manuals, which most nearly reflect the operations of the Contractor. Any exclusions or provisions in the insurance maintained by the Contractor that precludes coverage for the work contemplated in this Agreement shall be deemed unacceptable, and shall be considered a breach of contract.
- B. The Contractor shall provide the City an original Certificate of Insurance for policies required by Article 10. All certificates shall state that the City shall be given ten (10) days notice prior to expiration or cancellation of the policy. The insurance provided shall be endorsed or amended to comply with this notice requirement. In the event that the insurer is unable to accommodate, it shall be the responsibility of the Contractor to provide the proper notice. Such notification will be in writing by registered mail, return receipt requested and addressed to the Finance Department. Such policies shall: (1) name the insurance company or companies affording coverage acceptable to the City, (2) state the effective and expiration dates of the policies, (3) include special endorsements where necessary. Such policies provided under Article 10 shall not be affected by any other policy of insurance, which the City may carry in its own name.
- C. Contractor shall as a condition precedent of this Agreement, furnish to the City of Fort Lauderdale, c/o Project Manager, 100 N. Andrews Avenue, Fort Lauderdale, FL 33301, Certificate(s) of Insurance upon execution of this Agreement, which indicate that insurance coverage has been obtained which meets the requirements as outlined below:
- 10.3.2 <u>Property Insurance (Builder's Risk)</u>: The Contractor shall purchase and maintain property insurance upon the Work at or off the site of 100% of the contract completed value. These policies shall insure the interest of the owner, contractor and subcontractors in the Work, and shall insure against "all risks" of physical loss and damage including theft, vandalism and malicious mischief, collapse and water damage. All such insurance required by this paragraph shall remain in effect until the Work is completed and accepted by the City.

10.3.3 Commercial General Liability

A. Limits of Liability: Bodily Injury and Property Damage - Combined Single Limit Each Occurrence \$1,000,000 Project Aggregate \$1,000,000 General Aggregate \$2,000,000 Personal Injury \$1,000,000 Products/Completed Operations \$1,000,000 Endorsements Required: City of Fort Lauderdale included as an Additional Insured Broad Form Contractual Liability Waiver of Subrogation Premises/Operations Products/Completed Operations Independent Contractors Owners and Contractors Protective Liability Contractors Pollution Liability

10.3.4 Business Automobile Liability

Β.

A. Limits of Liability: Bodily Injury and Property Damage - Combined Single Limit All Autos used in completing the contract Including Hired, Borrowed or Non-Owned Autos Any One Accident \$1,000,000

B. Endorsements Required: Waiver of Subrogation

10.3.5 Workers' Compensation and Employer's Liability Insurance

Limits: Workers' Compensation – Per Florida Statute 440 Employers' Liability - \$500,000

Any firm performing work on behalf of the City of Fort Lauderdale must provide Workers' Compensation insurance. Exceptions and exemptions can only be made if they are in accordance with Florida Law.

Contractor must be in compliance with all applicable State and Federal workers' compensation laws, including the U.S. Longshore Harbor Workers' Act or Jones Act.

- 10.3.6 <u>Umbrella / Excess Liability:</u> The Contractor shall provide umbrella / excess coverage with limits of no less than \$2,000,000 excess of Commercial General Liability, Automobile Liability and Employer's Liability.
- 10.3.7 All insurance policies required above shall be issued by companies authorized to do business under the laws of the State of Florida, with the following qualifications:
- The Contractor's insurance must be provided by an A.M. Best's "A-" rated or better insurance company authorized to issue insurance policies in the State of Florida, subject to approval by the City's Risk Manager. Any exclusions or provisions in the insurance maintained by the Contractor that precludes coverage for work contemplated in this project shall be deemed unacceptable, and shall be considered breach of contract.

NOTE: CITY PROJECT NUMBER MUST APPEAR ON EACH CERTIFICATE.

Compliance with the foregoing requirements shall not relieve the Contractor of their liability and obligation under this section or under any other section of this Agreement.

The Contractor shall be responsible for assuring that the insurance certificates required in conjunction with this Section remain in force for the duration of the Project. If insurance certificates are scheduled to expire during the contractual period, the Contractor shall be responsible for submitting new or renewed insurance certificates to the City at a minimum of thirty (30) calendar days in advance of such expiration. In the event that expired certificates are not replaced with new or renewed certificates that cover the contractual period, the City shall:

- A. Suspend the Agreement until such time as the new or renewed certificates are received by the City.
- B. The City may, at its sole discretion, terminate the Agreement for cause and seek damages from the Contractor in conjunction with the violation of the terms and conditions of the Agreement.

ARTICLE 11- WARRANTY AND GUARANTEE, TESTS AND INSPECTIONS, CORRECTION, REMOVAL OR ACCEPTANCE OF DEFECTIVE WORK

- 11.1 <u>Warranty:</u> The Contractor warrants and guarantees to the City that all Work will be in accordance with the Contract Documents and will not be defective. Prompt notice of all defects shall be given to the Contractor. All defective work, whether or not in place, may be rejected, corrected or accepted as provided in this Article.
 - 11.1.1 <u>Warranty of Title:</u> The Contractor warrants to the City that it possesses good, clear and marketable title to all equipment and materials provided and that there are no pending liens, claims or encumbrances against the equipment and materials.
 - 11.1.2 <u>Warranty of Specifications:</u> The Contractor warrants that all equipment, materials and workmanship furnished, whether furnished by the Contractor, its subcontractors or suppliers, will comply with the specifications, drawings and other descriptions supplied or adopted and that all services will be performed in a workmanlike manner.
 - 11.1.3 <u>Warranty of Merchantability:</u> The Contractor warrants that any and all equipment to be supplied pursuant to this Agreement is merchantable, free form defects, whether patent or latent in material or workmanship, and fit for the ordinary purposes for which it is intended.
- 11.2 <u>Tests and Inspections:</u> The Contactor shall give the Project Manager timely (minimum of thirty six (36) hours) notice of readiness of the Work for all required inspections, tests, or approvals.

- 11.2.1 If any law, ordinance, rule, regulation, code or order of any public body having jurisdiction requires any Work (or part thereof) to specifically be inspected, tested or approved, the Contractor shall assume full responsibility, pay all costs in connection therewith and furnish the Project Manager the required certificates of inspection, testing or approval. The Contractor shall also be responsible for and shall pay all costs in connection with any inspection or testing required in connection with the City's acceptance of a manufacturer, fabricator, supplier or distributor of materials or equipment submitted for approval prior to the Contractor's purchase thereof for incorporation of the Work.
- 11.2.2 All inspections, tests or approvals other than those required by law, ordinance, rule, regulation, code or order of any public body having jurisdiction shall be performed by the City or by a professional testing firm designated by the City. The City will pay for sampling and testing if the test results are passing. The Contractor will reimburse the City for sampling, testing, and retesting costs associated with failing tests.
- 11.2.3 Neither observations by the Project Manager nor inspections, tests or approvals by others shall relieve the Contractor from his obligations to perform the Work in accordance with Contract Documents.
- 11.3 <u>Uncovering Work:</u> If any work that is to be inspected, tested or approved is covered without approval or consent of the Project Manager, it must, if requested by the Project Manager, be uncovered for observation and/or testing. Such uncovering and replacement shall be at the Contractor's sole expense unless the Contractor has given the Project Manager timely notice of the Contractor's intention to cover such Work and the Project Manager has not acted with reasonable promptness in response to such notice.
 - 11.3.1 If the Project Manager considers it necessary or advisable that Work covered in accordance with Paragraph 11.2.1, 11.2.2 and 11.2.3 be observed by the City or inspected or tested by others, the Contractor at the City's request, shall uncover, expose of otherwise make available for observation, inspection or testing as the Project Manager may require, that portion of the Work in question, furnishing all necessary labor, material and equipment. If it is found that such Work is defective, the Contractor shall bear all the expenses of such uncovering, exposure, observation, inspection and testing and of satisfactory reconstruction, including compensation for additional professional services, and an appropriate deductive Change Order shall be issued. If, however, such work is not found to be defective, the Contractor shall be allowed an increase in the Contract Price or an extension of the Contract Time, or both, directly attributable to such uncovering, exposure, observation, inspection testing and reconstruction if he makes a claim therefor as provided in Articles 14 and 15.
- 11.4 <u>City May Stop the Work:</u> If the Work is defective, or the Contractor fails to supply sufficient skilled supervisory personnel or workmen or suitable materials or equipment or the work area is deemed unsafe, the City may order the Contractor to stop the Work, or any portion thereof, until the cause for such order has been eliminated:

however, this right of the City to stop the Work shall not give rise to any duty on the part of the City to exercise this right for the benefit of the Contractor or any other party. The City will not award any increase in Contract Price or Contract Time if the Work is stopped due to the circumstances described herein.

- 11.5 <u>Correction or Removal of Defective Work Before Final Payment:</u> If required by the Project Manager, the Contractor shall promptly, without cost to the City and as Specified by the Project Manager, either correct any defective Work, whether or not fabricated, installed or completed, or if the Work has been rejected by the City remove it from the site and replace it with non-defective Work.
- 11.6 <u>One Year Correction Period After Final Payment:</u> If within one (1) year after the date of final acceptance, or such longer period of time as may be prescribed by law or by the terms of any applicable special guarantee required by the Contract Documents, any work is found to be defective, the Contractor shall promptly, without cost to the City and in accordance with the City's written instructions, either correct such defective Work, or, if it has been rejected by the City, remove it from the site and replace it with non-defective Work.

If The Contractor does not promptly comply with the terms of such instructions or in an emergency where delay would cause serious risk of loss or damage, the City may have the defective Work corrected or the rejected Work removed and replaced, and all direct and indirect costs for such removal and replacement, including compensation for additional professional services, shall be paid by the Contractor.

- 11.7 <u>Acceptance of Defective Work, Deductions:</u> If, instead of requiring correction or removal and replacement of defective Work, the City, at the city's sole option, prefers to accept it, the City may do so. In such a case, if acceptance occurs prior to the Project Manager's recommendation of final payments, a Change Order shall be issued incorporating the necessary revisions in the Contracts Documents, including appropriate reduction in the Contract Price; or if the acceptance occurs after such recommendation, an appropriate amount shall be paid by the Contractor to the City.
- City May Correct Defective Work: If the Contractor fails within a reasonable time after 11.8 written notice of the Project Manager to proceed to correct defective Work or to remove and replace rejected Work as required by the Project Manager in accordance with Paragraph 11.5, or if the Contractor fails to perform the Work in accordance with the Contract Documents, the City may, after seven (7) days written notice to the Contractor, correct and remedy any such deficiency. In exercising its rights under this paragraph, the City shall proceed expeditiously. To the extent necessary to complete corrective and remedial action, the City may exclude the Contractor from all or part of the site, take possession of all or part of the Work, suspend the Contractor's services related thereto and take possession of the Contractor's tools, construction equipment and materials stored at the site or elsewhere. The Contractor shall allow the City's representative agents and employees such access to the site as may be necessary to enable the City to exercise its rights under this paragraph. All direct and indirect costs of the City in exercising such rights shall be charged against the Contractor in an amount verified by the Project Manager, and a Change Order shall be issued incorporating the necessary revisions in the Contract Documents and a reduction in

the Contract Price. Such direct and indirect costs shall include, in particular but without limitation, compensation for additional professional services required and costs of repair and replacement of work of others destroyed or damaged by correction, removal or replacement of the Contractor's defective Work. The Contractor shall not be allowed an extension of the Contract Time because of any delay in performance of the Work attributable to the exercise by the City of the City's right hereunder.

ARTICLE 12 – INDEMNIFICATION

- 12.1 <u>Disclaimer of Liability:</u> The City shall not at any time, be liable for injury or damage occurring to any person or property from any cause, whatsoever, arising out of Contractor's construction and fulfillment of this agreement.
- 12.1 <u>Indemnification:</u> For other, additional good valuable consideration, the receipt and sufficiency of which is hereby acknowledged:
 - 12.2.1 Contractor shall, at its sole cost and expense, indemnify and hold harmless the City, its representatives, employees and elected and appointed officials from or on account of all claims, damages, losses, liabilities and expenses, direct. indirect or consequential including but not limited to fees and charges of engineers, architects, attorneys, consultants and other professionals and court costs arising out of or in consequence of the performance of this Agreement at all trial and appellate levels. Indemnification shall specifically include but not be limited to claims, damages, losses, liabilities and expenses arising out of or from (a) the negligent or defective design of the project and Work of this Agreement; (b) any act, omission or default of the Contractor, its Subcontractors, agents, servants or employees; (c) any and all bodily injuries, sickness, disease or death; (d) injury to or destruction of tangible property, including any resulting loss of use; (e) other such damages, liabilities, or losses received or sustained by any person or persons during or on account of any operations connected with the construction of this Project including the warranty period; (f) the use of any improper materials; (g) any construction defect including both patent and latent defects; (h) failure to timely complete the work; (i) the violation of any federal, state, county or city laws, ordinances or regulations by Contractor, its subcontractors, agents, servants, independent contractors or employees; (j) the breach or alleged breach by Contractor of any term of the Agreement, including the breach or alleged breach of any warranty or guarantee.
 - 12.2.2 Contractor agrees to indemnify, defend, save and hold harmless the City, its officers, agents and employees, from all damages, liabilities, losses, claims, fines and fees, and from any and all suits and actions of every name and description that may be brought against City, its officers, agents and employees, on account of any claims, fees, royalties, or costs for any invention or patent and/or for the infringement of any and all copyrights or patent rights claimed by any person, firm, or corporation.

- 12.2.3 Contractor shall pay all claims, losses, liens, settlements or judgments of any nature in connection with the foregoing indemnifications including, but not limited to, reasonable attorney's fees and costs for trails and appeals.
- 12.2.4 If any Subcontractor, supplier, laborer, or materialmen of Contractor or any other person directly or indirectly acting for or through Contractor files or attempts to file a mechanic's or construction lien against the real property on which the work is performed or any part or against any personal property or improvements thereon or make a claim against any monies due or to become due from the City to Contractor or from Contractor to a Subcontractor, for or on account of any work, labor, services, material, equipment, or other items furnished in connection with the Work or any change order, Contractor agrees to satisfy, remove, or discharge such lien or claim at its own expense by bond, payment, or otherwise within five (5) days of the filing or from receipt of written notice from the City.

Additionally, unit such time as such lien or claim is satisfied, removed or discharged by Contractor, all monies due to Contractor, or that become due to Contractor before the lien or claim is satisfied, removed or otherwise discharged, shall be held by City as security for the satisfaction, removal and discharge of such lien and any expense that may be incurred while obtaining the discharge. If Contractor shall fail to do so, City shall have the right, in addition to all other rights and remedies provided by this Agreement or by law, to satisfy, remove, or discharge such lien or claim by whatever means City chooses at the entire and sole cost and expense of Contractor which costs and expenses shall, without limitation, include attorney's fees, litigation costs, fees and expenses and all court costs and assessments, and which shall be deducted from any amount owing to Contractor. In the event the amount due Contractor is less than the amount required to satisfy Contractor's obligation under this, or any other article, paragraph or section of this Agreement, the Contractor shall be liable for the deficiency due the City.

12.2.5 The Contractor and the City agree that Section 725.06(2), Florida Statutes controls the extent and limits of the indemnification and hold harmless provisions of this Agreement, if any, and that the parties waive any defects in the wording of this Article that runs afoul of said statutory section.

ARTICLE 13 – CHANGES IN THE WORK

13.1 Without invalidating this Agreement, the City may, at any time or from time to time order additions, deletions or revisions in the Work through the issuance of Change Orders. Upon receipt of a Change Order, the Contractor shall proceed with the Work involved. All Work shall be executed under the applicable conditions of the Contract Documents. If any Change Order causes an increase or decrease in the Contract Price or an extension or shortening of the Contract Time, an equitable adjustment will be made as provided in Article 14 or Article 15 on the basis of a claim made by either Party.

- 13.2 The Project Manager may authorize minor changes in the work not involving an adjustment in the Contract Price of the Contract Time, which are consistent with the overall intent of the Contract Documents. Such changes must be in writing and signed by the City and the Contractor.
- 13.3 If notice of any change affecting the general scope of the Work or change in the Contract Price is required by the provisions of any Bond to be given to the Surety, it will be the Contractor's responsibility to so notify the Surety, and the amount of each applicable Bond shall be adjusted accordingly. The Contractor shall furnish proof of such adjustment to the City.

ARTICLE 14 – CHANGE OF CONTRACT PRICE

Change of Contract Price, approved by CITY, shall be computed as follows:

- 14.1 <u>Cost of the Work</u>: The term "Cost of the Work" means the sum of all direct costs necessarily incurred and paid by Contractor in the proper performance of the Work. Except as otherwise may be agreed to in writing by the City, these costs shall be in amounts no higher than those prevailing in the City and shall include only the following items and shall not include any of the costs itemized in Paragraph 14.2:
 - 14.1.1 Payroll costs for employees in the direct employ of the Contractor in the performance of the Work under schedules of job classifications agreed upon by the City and the Contractor. Payroll costs for employees not employed full time on the Work shall be apportioned on the basis of their time spent on the Work. Payroll costs shall include, but not be limited to, salaries and wages plus and cost of fringe benefits which shall include social security contributions, unemployment, excise and payroll taxes, worker's compensation, health and retirement benefits, bonuses, sick leave, vacation and applicable holiday pay.
 - 14.1.2 Cost of all materials and equipment furnished and incorporated in the Work, including costs of transportation and storage, and required suppliers and field services. All cash discounts, rebates and refunds and all returns from sale of surplus materials and equipment shall accrue to the City, and the Contractor shall make provisions so that they may be obtained.
 - 14.1.3 Supplemental costs including the following:
 - 14.1.3.1 Cost, including transportation and maintenance of all materials, supplies, equipment, machinery, appliances, office and temporary facilities at the site and hand tools not owned by the workers, which are consumed in the performance of the Work.
 - 14.1.3.2 Rentals of all construction equipment and machinery and the parts whether rented from the Contractor or others in accordance with rental agreements approved by the City, and the costs of transporting, loading, unloading, installation, dismantling and removal. The rental of any such equipment, machinery or parts shall cease when the use is no longer necessary for the Work.

- 14.1.3.3 Sales, consumer, use or similar taxes related to the Work and for which the Contractor is liable, imposed by laws and regulations.
- 14.1.3.4 Royalty payments and fees for permits and licenses.
- 14.1.3.5 The cost of utilities, fuel and sanitary facilities at the Work site.
- 14.1.3.6 Minor expenses such as telegrams, long distance telephone calls, telephone service at the site, expressage and similar petty cash items in connection with the Work.
- 14.1.3.7 Cost of premiums for additional bonds and insurance required because of changes in the Work.
- 14.2 The Contract Price may only be increased by a Change Order when Work is modified in accordance with Article 13 and approved by the CITY in writing. Any claim for an increase in the Contract Price resulting from a Change Order shall be based on written notice delivered to the Project Manager within ten (10) days of the occurrence of the Change Order giving rise to the claim. Notice of the amount of the claim with supporting data shall be included in the Change Order and delivered within twenty (20) days of such occurrence unless Project Manager allows an additional period of time to ascertain accurate cost data. Any change in the Contract Price resulting from any such claim shall be incorporated in the Change Order.
- 14.3 <u>Not Included in the Cost of the Work:</u> The term "cost of the Work" shall not include any of the following:
 - 14.3.1 Payroll costs and other compensation of the Contractor's officers executives, principals (of partnership and sole proprietorships), general managers, engineers, architects, estimators, attorneys, auditor, accountants, purchasing and contracting agents, expediters, timekeepers, clerks and other personnel employed by the Contractor whether at the site or in the Contractor's principal or branch office for general administration of the work and not specifically included in the agreed upon schedule of job classifications referred to in Paragraph 14.1.1, all of which are to be considered administrative costs covered by the Contractor's fee.
 - 14.3.2 Expenses of the Contractor's principal and branch offices other than the Contractor's office at the site.
 - 14.3.3 Any part of the Contractor's capital expenses, including interest on the Contractor's capital employed for the Work and charges against the Contractor for delinquent payments.
 - 14.3.4 Cost of premiums for all bonds and for all insurance whether or not the Contractor is required by the Contract Documents to purchase and maintain the same.

- 14.3.5 Costs due to the negligence of the Contractor, any subcontractor, or anyone directly or indirectly employed by any of them or for whose acts any of them may be liable, including but not limited to, the correction of defective Work, disposal of materials or equipment wrongly supplied and making good any damage to property.
- 14.3.6 Other overhead or general expense costs of any kind and the costs of any item not specifically and expressly included in Paragraph 14.1
- 14.4 <u>Basis of Compensation:</u> The Contractor's compensation, allowed to the Contractor for overhead and profit, shall be determined as follows:
 - 14.4.1 A mutually acceptable negotiated fee:
 - 14.4.1.1 For costs incurred under Paragraphs 14.1.1 and 14.1.2, the Contractor's fee shall not exceed five percent (5%).
 - 14.3.1.2 No fee shall be payable on the basis of costs itemized under Paragraphs 14.1.3.1, 14.1.3.2, 14.1.3.3, 14.1.3.4, 14.1.3.5, 14.1.3.6, 14.1.3.7, 14.3.1, 14.3.2, 14.3.3, 14.3.4, 14.3.5 and 14.3.6.
 - 14.3.1.3 The amount of credit to be allowed by the Contractor to the City for any such change which results in a net decrease plus a deduction in the Contractor's fee by an amount equal to five percent (5%) for the net decrease.
 - 14.3.1.4 When both additions and credits are involved in any one change the combined overhead and profit shall be figured on the basis of net increase if any, however, not to exceed five percent (5%) of the agreed compensation. Profit will not be paid on any Work not performed.
- 14.5 <u>Cost Breakdown Required:</u> Whenever the cost of any Work is to be determined pursuant to this Article, the Contractor will submit in form acceptable to the City an itemized cost breakdown together with supporting documentation. Whenever a change in the Work is to be based upon mutual acceptance of a lump sum, whether the amount is an addition, credit, or no-charge-in-cost, the Contractor shall submit an estimate substantiated by a complete itemized breakdown:
 - 14.5.1 The breakdown shall list quantities and unit prices for materials, labor, equipment and other items of cost.
 - 14.5.2 Whenever a change involves the Contractor and one (1) or more subcontractors and the change is an increase in the agreed compensation, the overhead and profit percentage for the Contractor and each subcontractor shall be itemized separately.
- 14.6 <u>Time for the City to Approve Extra Work:</u> Any Extra Work in an amount up to and not exceeding a cumulative amount of \$25,000 for a specific project can be approved by the City Manager and shall require a written Change Order proposal to be submitted to

the Public Works Director for submittal and approval by the City Manager. Extra Work exceeding the cumulative amount of \$25,000 for a specific project must be approved by the City Commission and a written Change Order proposal must be submitted to the Public Works Director for submittal and approval by the City Manager and City Commission. No financial or time claim for delay to the project resulting from the Change Order approval process outlined above under Section 14.6 will be allowed.

ARTICLE 15 – CHANGE OF THE CONTRACT TIME

- 15.1 The Contract Time may only be changed by a Change Order. Any claim for an extension in the Contract Time shall be based on written notice delivered to the Project Manager within five (5) days of the occurrence of the event giving rise to the claim. Any change in the Contract Time resulting from any such claim shall be incorporated in a Change Order.
- 15.2 The Contract Time will be extended in an amount equal to time lost due to delays beyond the control of the Contractor if a claim is made there for as provided in Paragraph 15.1. Such delays shall include but not be limited to, acts or neglect by the City, or to fires, floods, labor disputes, epidemics, abnormal weather conditions, or acts of God.
- 15.3 All time limits stated in the Contract Documents are of the essence. The provisions of this Article 15 shall not exclude recovery for damages for delay by the Contractor.
- 15.4 Delays caused by or resulting from entities, contractors or subcontractors who are not affiliated with the CONTRACTOR (non-affiliated Contractors) shall not give rise to a claim by the CONTRACTOR for damages for increases in material and/or labor costs. Such entities, contractors and subcontractors include, but are not limited to, the CITY's contractors and subcontractors, Florida Power and Light Company, AT&T and Florida East Coast Railway, LLC.

ARTICLE 16 – LIQUIDATED DAMAGES

Upon failure of the Contractor to complete the Work within the time specified for 16.1 completion, the Contractor shall pay to the City the sum of One Thousand Dollars (\$1,000.00) for each and every calendar day that the completion of the Work is delayed beyond the time specified in this Agreement for completion, as fixed and agreed liquidated damages and not as a penalty, so long as the delay is caused by the Contractor. Should an act of God or the acts or omissions of the City, its agents or representatives, in derogation to the terms of this Agreement cause the delay, the Contractor shall not be responsible for the delay nor liquidated damages. Liquidated damages are fixed and agreed upon between the Parties, recognizing the impossibility of precisely ascertaining the amount of damages that will be sustained by the City as a consequence of such delay and both parties desiring to obviate any question of dispute concerning the amount of damages and the cost and effect of the failure of the Contractor to complete the Work on time. Liquidated damages shall apply separately to each portion of the Work for which a time of completion is given. The City shall have the right to deduct from or retain any compensation which may be due or which may become due and payable to the Contractor the amount of liquidated damages,

and if the amount retained by the City is insufficient to pay in full such liquidated damages, the Contractor shall pay all liquidated damages in full. The Contractor shall be responsible for reimbursing the City, in addition to liquidated damages or other damages for delay, for all costs of engineering, architectural fees, and inspection and other costs incurred in administering the construction of the Project beyond the completion date specified or beyond an approved extension of time granted to the Contractor whichever is later. Delays caused by or resulting from entities, contractors or subcontractors who are not affiliated with the Contractor shall not give rise to a claim by Contractor for damages for increase in material and/or labor costs. Such entities, contractors, Florida Power and Light Company, AT&T, and Florida East Coast Railway, LLC.

16.2 No Extended Damages: For other and additional good and valuable consideration the receipt and sufficiency of which is hereby acknowledged, the Contractor covenants and agrees that in the event of any delay of construction or for any reason, allegation or claim, and notwithstanding the reason of the delay, reason, claim or allegation or who caused them or the construction delay or whether they were caused by the City, that there will be no entitlement to Contractor to or for any direct or indirect financial damages or losses for extended corporate overhead impact, extended project overhead impacts, project support services, mobilization or demobilization or by whatever other label or legal concept or theory and types of names or labels or basis such claims may have, or any business damages or losses of whatever type or nature, and Contractor hereby waives any right to make any such claim or claims. This provision will have application and effect when construction delays are anticipated and agreed upon by both the City and the Contractor.

ARTICLE 17 – SUSPENSION OF WORK AND TERMINATION

- 17.1 <u>City May Suspend Work:</u> The City may, at any time and without cause, suspend the Work or any portion of the Work for a period of not more than ninety (90) days by notice in writing to the Contractor which shall fix the date on which Work shall be resumed. The Contractor shall resume the Work on the date fixed. The Contractor will be allowed an increase in the Contract Price or an extension of the Contract Time, or both, directly attributable to any suspension, if the Contractor makes a claim as provided in Articles 14 and 15.
- 17.2 <u>City May Terminate Work:</u> The City retains the right to terminate this Agreement, with thirty (30) days prior written notice. Additionally, the City may also terminate this Agreement upon 15 days notice upon the occurrence of any one or more of the following events:
 - 17.2.1 If the Contractor commences a voluntary case or a petition is filed against the Contractor, under any chapter of the Bankruptcy Code, or if the Contractor takes any equivalent or similar action by filing a petition or otherwise under any other federal or state law in effect at such time relating to the bankruptcy or insolvency.
 - 17.2.2 If the Contractor makes a general assignment for the benefit of creditors.

- 17.2.3 If a trustee, receiver, custodian or agent of the Contractor is appointed under applicable law or under Contract, whose appointment or authority to take charge of property of the Contractor is for the purpose of enforcing a lien against such property or for the purpose of general administration of such property for the benefit of the Contractor's creditors.
- 17.2.4 If the Contractor persistently fails to perform the Work in accordance with the Contract Documents, including but not limited to, failure to supply sufficient skilled Workers or suitable materials or equipment or failure to adhere to the progress schedule as same may be revised from time to time.
- 17.2.5 If the Contractor repeatedly fails to make prompt payments to subcontractors or for labor, material or equipment.
- 17.2.6 If the Contractor repeatedly disregards proper safety procedures.
- 17.2.7 If the Contractor disregards any local, state or federal laws or regulations.
- 17.2.8 If the Contactor otherwise violates any provisions of this Agreement.
- 17.3 Further, the Contractor may be excluded from the Work site and the City take possession of the Work and of all the Contractor's tools, appliances, construction equipment and machinery at the site and use them without liability to the City for trespass or conversion, incorporate in the Work all materials and equipment stored at the site or for which the City has paid the Contractor but which are stored elsewhere, and finish the Work as the City may deem expedient. In this instance, the Contractor shall not be entitled to receive any further compensation until the Work is finished.

No Extended Damages: For other and additional good and valuable consideration the receipt and sufficiency of which is hereby acknowledged, the Contractor covenants and agrees that in the event of any delay of construction or for any reason, allegation or claim, and notwithstanding the reason of the delay, reason, claim or allegation or who caused them or the construction delay or whether they were caused by the City, that there will be no entitlement to Contractor to or for any direct or indirect financial damages or losses for extended corporate overhead impact, extended project overhead impacts, project support services, mobilization or demobilization or by whatever other label or legal concept or theory and types of names or labels or basis such claims may have, or any business damages or losses of whatever type or nature, and Contractor hereby waives any right to make any such claim or claims. This provision will have application and effect when construction delays are anticipated and agreed upon by both the City and the Contractor.

- 17.4 If the Contractor commits a default due to its insolvency or bankruptcy, the following shall apply:
 - 17.4.1 Should this Agreement be entered into and fully executed by the parties, funds released and the Contractor (Debtor) files for bankruptcy, the following shall occur:

- 17.4.1.1 In the event the Contactor files a voluntary petition under 11 U.S.C. 301 or 302, or an order for relief is entered under 11 U.S.C. 303, the Contractor shall acknowledge the extent, validity, and priority of the lien recorded in favor of the City. The Contractor further agrees that in the event of this default, the City shall, at its option, be entitled to seek relief from the automatic stay pursuant to 11 U.S.C. 362. The City shall be entitled to relief from the automatic stay pursuant to 11 U.S.C. 362(d) (1) or (d) (2), and the Contactor agrees to waive the notice provisions in effect pursuant to 11 U.S.C. 362 and any applicable Local Rules of the United States Bankruptcy Court. The Contactor acknowledges that such waiver is done knowingly and voluntarily.
- 17.4.1.2 Alternatively, in the event the City does not seek stay relief, or if stay relief is denied, the City shall be entitled to monthly adequate protection payments within the meaning of 11 U.S.C. 361. The monthly adequate protection payments shall each be in an amount determined in accordance with the Note and Mortgage executed by the Contractor in favor of the City.
- 17.4.1.3 In the event the Contractor files for bankruptcy under Chapter 13 of Title 11, United States Code in additional to the foregoing provisions, the Contractor agrees to cure any amounts in arrears over a period not to exceed twenty-four (24) months from the date of the confirmation order, and such payments shall be made in addition to the regular monthly payments required by the Note and mortgage. Additionally, the Contractor shall agree that the City is over secured and, therefore, entitled to interest and attorney's fees pursuant to 11 Such fees shall be allowed and payable as an U.S.C. 506(b). administrative expense. Further, in the event the Contractor has less than five (5) years of payments remaining on the Note, the Contractor agrees that the treatment afforded to the claim of the City under any confirmed plan of reorganization shall provide that the remaining payments shall be satisfied in accordance with the Note, and that the remaining payments or claim shall not be extended or amortized over a longer period than the time remaining under the Note.
- 17.4.2 Should this Agreement be entered into and fully executed by the parties, and the funds have not been forwarded to Contractor, the following shall occur:
 - 17.4.2.1 In the event the Contractor files a voluntary petition pursuant to 11 U.S.C. 301 or 302, or an order for relief is entered under 11 U.S.C. 303., the Contractor acknowledges that the commencement of a bankruptcy proceeding constitutes an event of default under the terms of this Agreement. Further, the Contractor acknowledges that this Agreement constitutes an executor contract within the meaning of 11 U.S.C. 365. The Contractor acknowledges that this Agreement is not capable of being assumed pursuant to 11 U.S.C. 365(c)(2), unless the City expressly consents in writing to the assumption. In the event the

City consents to the assumption, the Contractor agrees to file a motion to assume this Agreement within ten (10) days after receipt of written consent from the City, regardless of whether the bankruptcy proceeding is pending under Chapter 7, 11, or 13 of Title 11 of the United States Code. The Contractor further acknowledges that this Agreement is not capable of being assigned pursuant to 11 U.S.C. 365(b)(1).

- 17.5 Where the Contractor's service have been so terminated by the City, the termination shall not affect any rights of the City against the Contractor then existing or which may thereafter accrue. Any retention or payment of moneys due the Contractor by the City will not release the Contractor from liability.
- 17.6 The Contractor has no right, authority or ability to terminate the Work except for the wrongful withholding of any payments due the Contractor from the City.

ARTICLE 18 – NOTICES

18.1 All notices required by any of the Contract Documents shall be in writing and shall be deemed delivered upon mailing by certified mail, return receipt requested to the following:

To the City:

City Manager City of Fort Lauderdale 100 North Andrews Avenue Fort Lauderdale, Florida 33301

with copy to the Project Manager and City Attorney City of Fort Lauderdale 100 North Andrews Avenue Fort Lauderdale, Florida 33301

To the Contractor:

Ric-Man Construction Florida, Inc. 3100 SW 15 Street Deerfield Beach, FL 33442

ARTICLE 19 – LIMITATION OF LIABILITY

19.1 The City desires to enter into this Agreement only if in so doing the City can place a limit on the City's liability for any cause of action arising out of this Agreement, so that the City's liability for any breach never exceeds the sum of \$1,000. For other good and valuable consideration, the receipt and sufficiency of which is hereby acknowledged, the Contractor expresses its willingness to enter into this Agreement with the

knowledge that the Contractor's recovery from the City to any action or claim arising from the Agreement is limited to a maximum amount of \$1,000, which amount shall be reduced by the amount actually paid by the City to the Contractor pursuant to this Agreement, for any action or claim arising out of this Agreement. Nothing contained in this paragraph or elsewhere in this Agreement is in any way intended either to be a waiver of the limitation placed upon the City's liability as set forth in Section 768.28, Florida Statutes, or to extend the City's liability beyond the limits established in said Section 768.28; and no claim or award against the City shall include attorney's fees, investigative costs, expert fees, suit costs or pre-judgment interest.

19.2 No Extended Damages: For other and additional good and valuable consideration the receipt and sufficiency of which is hereby acknowledged, the Contractor covenants and agrees that in the event of any delay of construction or for any reason, allegation or claim, and notwithstanding the reason of the delay, reason, claim or allegation or who caused them or the construction delay or whether they were caused by the City, that there will be no entitlement to Contractor to or for any direct or indirect financial damages or losses for extended corporate overhead impact, extended project overhead impacts, project support services, mobilization or demobilization or by whatever other label or legal concept or theory and types of names or labels or basis such claims may have, or any business damages or losses of whatever type or nature, and Contractor hereby waives any right to make any such claim or claims. This provision will have application and effect when construction delays are anticipated and agreed upon by both the City and the Contractor.

ARTICLE 20 – GOVERNING LAW

20.1 This Agreement shall be governed by the laws of the State of Florida. Both Parties agree that the courts of the State of Florida shall have jurisdiction of any claim arising in connection with this Agreement. Venue for any claim, objection or dispute arising out of this Agreement shall be in Broward County, Florida.

ARTICLE 21 – MISCELLANEOUS

- 21.1 The duties and obligations imposed by this Agreement and the rights and remedies available to the parties and, in particular but without limitation, the warranties, guaranties and obligations imposed upon the Contractor and all of the rights and remedies available to the City, are in addition to, and are not to be construed in any way as a limitation of, any rights and remedies available to any or all of them which are otherwise imposed or available by laws or regulations, by special warranty or guarantee or by other provisions of the Contract Documents, and the provisions of this Paragraph will be as effective as if repeated specifically in the Contract Documents, and the provisions of this Paragraph will survive final payment and termination or completion of this Agreement.
- 21.2 The Contractor shall not assign or transfer this Agreement or its rights, title or interests. The obligations undertaken by the Contractor pursuant to this Agreement shall not be delegated or assigned to any other person or firm. Violation of the terms of this Paragraph shall constitute a material breach of Agreement by the Contractor

and the City any, at its discretion, cancel this Agreement and all rights, title and interest of the Contractor which shall immediately cease and terminate.

- 21.3 The Contractor and its employees, volunteers and agents shall be and remain an independent contractors and not agents or employees of the City with respect to all of the acts and services performed by and under the terms of this Agreement. This Agreement shall not in any way be constructed to create a partnership, association or any other kind of joint undertaking or venture between the Parties.
- 21.4 The City reserves the right to audit the records of the Contractor relating in any way to the Work to be performed pursuant to this Agreement at any time during the performance and term of this Agreement and for a period of three (3) years after completion and acceptance by the City. If required by the City, the Contractor agrees to submit to an audit by an independent certified public accountant selected by the City. The Contractor shall allow the City to inspect, examine and review the records of the Contractor at any and all times during normal business hours during the term of this Agreement.
- 21.5 The remedies expressly provided in this Agreement to the City shall not be deemed to be exclusive but shall be cumulative and in addition to all other remedies in favor of the City now or later existing at law or in equity.
- 21.6 Should any part, term or provisions of this Agreement be decided by the courts to be invalid, illegal or in conflict with any state or federal law, the validity of the remaining portion or provision shall not be affected.

PROJECT 11780 2012-2013 ANNUAL STORM DRAINAGE CONTRACT

TO THE COMMISSION OF THE CITY OF FORT LAUDERDALE, FLORIDA

Gentlemen:

The undersigned bidder proposes to furnish all labor, tools, material and supplies, and to sustain all the expense incurred in doing the work set forth below that may be awarded to the undersigned by the City of Fort Lauderdale, Florida, through its proper officers, and to do the same strictly in accordance with the plans and contract documents on file in the Office of the City Engineer of Fort Lauderdale, which are referred to below and made a part hereof, at the following unit prices, to-wit:

\$

12,500.00

ITEM 1: Mobilization and demobilization (move-in and move-out), staging of equipment, traffic maintenance (Maintenance of Traffic (MOT) preparation, routing and placement), insurance, base cost and other fixed costs. This item must not exceed \$2,500 per each mobilization and demobilization, approximately five (5) locations. (See one-mile rule on special condition sheet SC-2)

/ Location (Approx. 5@ \$ 2,500.00 Locations)

ITEM 2: Furnish all materials, labor and equipment necessary to construct HDPE perforated-smooth interior storm drain and exfiltration trench, including but not limited to unloading, stringing, excavating, dewatering, removal and disposal of unsuitable materials, bedding, ballast rock, laying, wrapping with filter fabric, backfilling, compacting, restoring project area back to original condition or better, including adjustments of valves, rims, covers and grading (except for removal of asphalt, concrete, and paver block, concrete curbing, piping and storm structures, and installation of limerock, asphalt and sod which are covered in separate items), compliance with Florida Safety Act (90-96, Laws of Florida), and all or other necessary appurtenances as shown on project detail sheet.

OPEN CUT (TRENCHED) PIPE – HDPE PERFORATED:

a)	12-15 inches	@ :	\$_36.00	/L.F.	(Approx. 400)	\$ 14,400.00	
b)	18 inches	@ :	\$_44.10	/L.F.	(Approx. 300)	\$ 13,230.00	
c)	24 inches	@ \$	\$_57.62	/L.F	(Approx. 200)	\$ 11,524.00	
d)	30 inches	@ \$	\$_76.99	/L.F	(Approx. 100)	\$ 7,699.00	

C-34(a)

PROJECT 11780

(Continued)

ITEM 2 (CONTINUED):

UP TO 10' DEEP SHEETED STABILIZED TRENCH -- HDPE Perforated PIPE:

e)	12-15 inches	@	\$ 61.64	/L.F.	(Approx. 100)	\$ 6,164.00
f)	18 inches	@	\$ 70.32	/L.F	(Approx. 100)	\$ 7,032.00
g)	24 inches	@	\$ 84.58	/L.F	(Approx. 100)	\$ 8,458.00
h)	30 inches	@	\$ 107.47	/L.F	(Approx. 100)	\$ 10,747.00

ITEM 3: Furnish all materials, labor and equipment necessary to construct **HDPE solid**, smooth interior storm drain, including but not limited to unloading, stringing, excavating, dewatering, removal and disposal of unsuitable materials, bedding, laying, connecting to existing catch basins, core drilling, and filter fabric, backfilling, compacting, restoring project area back to original condition or better, including adjustments of valves, rims, covers and grading (except for removal of asphalt, concrete, and paver block, concrete curbing, piping and storm structures, and installation of limerock, asphalt and sod which are covered in separate items), compliance with Florida Safety Act (90-96, Laws of Florida), and all or other necessary appurtenances, as shown on project detail sheet.

OPEN CUT (TRENCHED) PIPE- HDPE SOLID:

a)	12-15 inches	@	\$ 26.11	_ /L.F.	(Approx. 300)	\$ 7,833.00
b)	18 inches	@	\$ 30.94	_/L.F	(Approx. 300)	\$ 9,282.00
c)	24 inches	@	\$ 41.75	/L.F	(Approx. 100)	\$ 4,175.00
d)	30 inches	@	\$ 55.26	/L.F	(Approx. 100)	\$ 5,526.00

UP TO 10' DEEP SHEETED STABILIZED TRENCH -- SOLID HDPE PIPE:

e)	12-15 inches	@	\$ 48.47	/L.F.	(Approx. 50)	\$ 2,423.50
f)	18 inches	@	\$ 53.30	/L.F	(Approx. 50)	\$ 2,665.00
g)	24 inches	@	\$ 64.29	/L.F	(Approx. 50)	\$ 3,214.50
h)	30 inches	@	\$ 77.97	/L.F	(Approx. 50)	\$ 3,898.50

ITEM 4: Furnish all materials, labor, and equipment necessary to construct **ductile iron pipe**, pressure class 350, including but not limited to unloading, stringing, excavating, dewatering, removal and disposal of unsuitable materials, bedding, laying, connecting to existing catch basins, core drilling, and filter fabric, backfilling, compacting, restoring project area back to original condition or better, including adjustments of valves, rims, cover and grading (except for removal of asphalt, concrete, and paver block, concrete curbing, piping and storm structures, and installation of limerock, asphalt and sod which are covered in separate items, compliance with Florida Safety Act (90-96, Laws of Florida), and all or other necessary appurtenances, as shown on project detail sheet.

OPEN CUT (TRENCHED) PIPE- DUCTILE IRON PIPE:

a)	4 inches	@	\$ 33.93	/L.F.	(Approx. 200)	\$ 6,786.00	
b)	6 inches	@	\$ 33.41	/L.F	(Approx. 200)	\$ 6,682.00	-
c)	8 inches	@	\$ 41.00	/L.F	(Approx. 200)	\$ 8,200.00	-
d)	12 inches	@	\$ 61.99	/L.F	(Approx. 200)	\$ 12,398.00	

UP TO 10' DEEP SHEETED STABILIZED TRENCH -- DUCTILE IRON PIPE:

e)	2 inches	@	\$_	37.72	/L.F.	(Approx. 50)	\$ 1,886.00
f)	4 inches	@	\$	59.51	/L.F	(Approx. 50)	\$ 2,975.50
g)	6 inches	@	\$	59.00	/L.F	(Approx. 100)	\$ 5,900.00
h)	8 inches	@	\$	65.44	/L.F	(Approx. 100)	\$ 6,544.00
i)	12 inches	@	\$	84.35	/L.F	(Approx. 100)	\$ 8,435.00

ITEM 5: Furnish all materials, labor and equipment necessary to construct **RCP-solid**, smooth interior storm drain, including but not limited unloading, stringing, excavating, dewatering, removal and disposal of unsuitable materials, bedding, laying, connecting to existing catch basins, core drilling, and filter fabric, backfilling, compacting, restoring project area back to original condition or better, including adjustments of valves, rims, covers and grading (except for removal of asphalt, concrete, and paver block, concrete curbing, piping and storm structures, and installation of limerock, asphalt and sod which are covered in separate items), compliance with Florida Safety Act (90-96, Laws of Florida), and all or other necessary appurtenances, as shown on project detail sheet.

10		11
11:01	ntini	Ind I
(Co		ICU /
1		

a)	12-15 inches	@	\$_	32.20	/L.F.	(Approx. 100)	\$	3,220.00
b)	18 inches	@	\$_	33.58	/L.F	(Approx. 100)	\$	3,358.00
c)	24 inches	@	\$	41.29	/L.F.	(Approx. 50)	\$	2,064.50
d)	30 inches	@	\$_	51.87	/L.F.	(Approx. 50)	\$	2,593.50
e)	Elliptical Pipe 12 inches high x 18 inches wide	@	\$	40.25	/L.F.	(Approx. 100)	\$	4,025.00
	UP TO 10' DEE	EP SI	HEET	ED STABIL	ZED TR	ENCH – RCP SC	LID PI	PE:
f)	12 inches	@	\$	52.73	/L.F.	(Approx. 50)	\$	2,636.50
g)	15 inches	@	\$	54.97	/L.F	(Approx. 50)	\$	2,748.50
h)	18 inches	@	\$	56.93	/L.F	(Approx. 50)	\$	2,846.50
i)	24 inches	@	\$	65.55	/L.F	(Approx. 50)	\$	3,277.50
j)	30 inches	@	\$	76.65	/L.F	(Approx. 50)	\$	3,832.50
k)	Elliptical Pipes 12 inches high x 18 inches wide	@	\$	63.02	/L.F	(Approx. 50)	\$	3,151.00
ITE	sewer pipe compacted	um de an to m proug	epth o d re laxim lht up	of 4-feet bel place with um density to 6-inches	ow botton selected in layers below bo	necessary to dem m of proposed s d backfill mate s not exceeded ottom of pipe, an	torm rials 12-	

ITEM 6 b): Stabilize existing subgrade, including the removal of unsuitable materials and compaction to AASHTO 100%, T-99C standard.

@ \$_____8.28 /S.Y. (Approx. 200)

\$

1,656.00

ITEM 7: Furnish all materials, labor, and equipment to construct various size **catch basins and manholes** including top slab, 12-inch sump, 8-inch deep hole, restoration, and all or other necessary appurtenances.

USP 3-3.0 USP 3-4.0	@ @		2,288.50	/Each	(Approx. 20)	\$	45,770.00
USP 3-4.0	0						10,770.00
	C.	\$	2,265.50	/Each	(Approx. 20)	\$	45,310.00
USP 3-9.2	@	\$	2,127.50	/Each	(Approx. 20)	\$	42,550.00
USP 3-5.0	@	\$	2,028.60	/Each	(Approx. 10)	\$	20,286.00
USP 3-6.0	@	\$	2,288.50	/Each	(Approx. 10)	\$	22,885.00
USP 3-7.2	@	\$	4,151.50	/Each	(Approx. 10)	\$	41,515.00
USP 3-7.3	@	\$	4,795.50	/Each	(Approx. 10)	\$_	47,955.00
USP 3-7.4	@	\$	5,991.50	/Each	(Approx. 10)	\$	59,915.00
USP 3-7.5	@	\$	13,159.45	/Each	(Approx. 3)	\$_	39,478.35
USP 3-7.7	@	\$	4,013.50	/Each	(Approx. 3)	\$_	12,040.50
USP 3-7.8	@	\$	4,933.50	/Each	(Approx. 3)	\$	14,800.50
USP 3-7.9	@	\$	5,393.50	/Each	(Approx. 3)	\$_	16,180.50
USP 3-7.12	@	\$	5,916.75	/Each	(Approx. 3)	\$	17,750.25
USP 3-7.13	@	\$	8,383.50	/Each	(Approx. 3)	\$	25,150.50
USP 3-9.3	@	\$	2,857.75	/Each	(Approx. 5)	\$	14,288.75
USP 3-9.5	@	\$	3,726.00	_ /Each	(Approx. 5)	\$	18,630.00
USP 3-20	@	\$	2,961.25	_ /Each	(Approx. 5)	\$	14,806.25
USP 3-21	@	\$	2,558.75	/Each	(Approx. 5)	\$	12,793.75
USP 3-22	@	\$	1,886.00	_ /Each	(Approx. 5)	\$	9,430.00
USP 3-25	@	\$	2,334.50	_ /Each	(Approx. 5)	\$	11,672.50
USP 3-39	@	\$	2,662.25	_ /Each	(Approx. 5)	\$	13,311.25
USP 3-40	@	\$	2,662.25	_ /Each	(Approx. 5)	\$	13,311.25
ADS 2815 AG	@	\$	2,524.25	_ /Each	(Approx. 5)	\$	12,621.25
ADS 2818 AG	@	\$	2,978.50	_ /Each	(Approx. 5)	\$	14,892.50
ADS 2824 AG	@	\$	3,841.00	_ /Each	(Approx. 5)	\$	19,205.00
ADS 2830 AG	@	\$_	5,267.00	/Each	(Approx. 5)	\$	26,335.00
FDOT curb inlet	top Ty @	pe 1 \$, per FDOT ind 4,583.90	lex #210 _ /Each	(Approx. 5)	\$	22,919.50
FDOT curb inlet	-	· · · · · · · · · · · · · · · · · · ·			()	•	27,341.25
	USP 3-25 USP 3-39 USP 3-40 ADS 2815 AG ADS 2818 AG ADS 2824 AG ADS 2830 AG FDOT curb inlet	USP 3-25 @ USP 3-39 @ USP 3-40 @ ADS 2815 AG @ ADS 2818 AG @ ADS 2824 AG @ ADS 2830 AG @ FDOT curb inlet top Ty @	USP 3-25 @ \$ USP 3-39 @ \$ USP 3-40 @ \$ ADS 2815 AG @ \$ ADS 2818 AG @ \$ ADS 2824 AG @ \$ ADS 2830 AG @ \$ FDOT curb inlet top Type 1 @ \$	USP 3-25 @ \$ 2,334.50 USP 3-39 @ \$ 2,662.25 USP 3-40 @ \$ 2,662.25 ADS 2815 AG @ \$ 2,524.25 ADS 2818 AG @ \$ 2,978.50 ADS 2824 AG @ \$ 3,841.00 ADS 2830 AG @ \$ 5,267.00 FDOT curb inlet top Type 1, per FDOT ind @ \$ #DOT curb inlet top Type 2, per FDOT ind #,583.90	USP 3-25 @ \$ 2,334.50 /Each USP 3-39 @ \$ 2,662.25 /Each USP 3-40 @ \$ 2,662.25 /Each ADS 2815 AG @ \$ 2,524.25 /Each ADS 2815 AG @ \$ 2,978.50 /Each ADS 2818 AG @ \$ 3,841.00 /Each ADS 2824 AG @ \$ 5,267.00 /Each ADS 2830 AG @ \$ 5,267.00 /Each FDOT curb inlet top Type 1, per FDOT index #210 @ \$ 4,583.90 /Each FDOT curb inlet top Type 2, per FDOT index #210 % 4,583.90 /Each	USP 3-25 @ \$ 2,334.50 /Each (Approx. 5) USP 3-39 @ \$ 2,662.25 /Each (Approx. 5) USP 3-40 @ \$ 2,662.25 /Each (Approx. 5) ADS 2815 AG @ \$ 2,524.25 /Each (Approx. 5) ADS 2818 AG @ \$ 2,978.50 /Each (Approx. 5) ADS 2824 AG @ \$ 3,841.00 /Each (Approx. 5) ADS 2830 AG @ \$ 5,267.00 /Each (Approx. 5) FDOT curb inlet top Type 1, per FDOT index #210 (Approx. 5) FDOT curb inlet top Type 2, per FDOT index #210 (Approx. 5)	USP 3-25 @ \$ 2,334.50 /Each (Approx. 5) \$

((Continued)						PROJECT 117
C	c) FDOT curb inle	t top Ty @) \$_	24,006.25
de	d) FDOT curb inle	t top Ti	vpe 4. per FDC	T index #2	210		
			\$5,692.			\$	28,462.50
ee	e) FDOT curb inlet	ton T	vne 5. ner EDO	T index #2	210		
			\$4,163.0			\$	20,815.00
ff)	FDOT curb inlet	ton Tu	Ino 6 por EDO	Tindov #0	10		
,	1 DOT COD IME	. top 1y @			ch (Approx. 5)	\$	21,878.75
IT	and grate	of va	arious sizes, t	pe U.S.	ent to construct Foundry or app or other nece	proved	
a)	USF 4155-6210						
	frame & grate	@	\$1,098.2	5_/Each	(Approx. 20)	\$	21,965.00
b)	USF 4155-6614 frame & grate	@	1,259.2	5_ /Each	(Approx. 10)	\$	12,592.50
c)	USF 5100-6147						
	frame & grate	@ \$	\$1,098.2	5_/Each	(Approx. 20)	\$	21,965.00
d)	USF 5115-6224 frame & grate	@ \$	\$1,345.50)_/Each	(Approx. 20)	\$	26,910.00
e)	USF 119-BL storm manhole						
	ring & cover	@\$	\$977.50)_ /Each	(Approx. 10)	\$	9,775.00
)	USF 5105-6148 frame & grate	@\$	\$937.25	5_/Each	(Approx. 5)	\$	4,686.25
g)	USP 3-55.1 Construction Drain w/ USF 6141 grate, 14" wide x 24" long x		598.00	/Each	(Approx. 100)	\$	59,800.00
	•	(a) \$		_ / Laon	(hippiox, 100)	Ψ	39,000.00
1)	18" max depth 12-inch wide Polydrain trench drain channel & grate Px109277,	@\$					

C-34(f)

<u>IT</u>	EM 8 (CONTINUED)	1					
i)	USP 3-54 Type; 8 wide, 5 depth, 10 long section box culvert	@	\$4,416.0	0/Each	(Approx. 10)) \$	44,160.00
j)	USF- 679-BK-M wide manhole	0	• • • • • • •				
	ring and cover	@	\$ <u>1,817.00</u> 851.00	the second se	(Approx. 5)	\$_	9,085.00
k)	USF 3105-5630	@	\$	/Each	(Approx. 10)	\$	8,510.00
ITE	aluminum steel hardwa	poll	ution-retardant	devices,	ipment to cor including sta appurtenances.	nstruct iinless	
ITE	aluminum steel hardwa Aluminum Baffles	poll	ution-retardant	devices,	including sta	nstruct iinless	
ITE a)	aluminum steel hardwa	poll	ution-retardant nd all or other i	devices,	including sta	nstruct inless \$	3,565.00
ITE a)	aluminum steel hardwa Aluminum Baffles to cover 12-inch - 15 inch pipe	pollu are, a	ution-retardant nd all or other i	t devices, necessary a	including sta appurtenances.	inless	
ITE a) b)	aluminum steel hardwa Aluminum Baffles to cover 12-inch - 15 inch pipe Aluminum Baffles to cover 18-inch	pollu are, a @	Jtion-retardant ind all or other in \$ 356.50 \$ 379.50	t devices , necessary a /Each	including sta appurtenances. (Approx. 10)	iinless \$	3,565.00
ITE a) b)	aluminum steel hardwa Aluminum Baffles to cover 12-inch - 15 inch pipe Aluminum Baffles to cover 18-inch pipe Aluminum Baffles to cover 24-inch	pollu are, a @ @	ution-retardant ind all or other in \$	t devices , necessary a /Each /Each 	including sta appurtenances. (Approx. 10) (Approx. 10) (Approx. 5)	\$ \$ \$	3,565.00 3,795.00 2,990.00
ITE a) b)	aluminum steel hardwa Aluminum Baffles to cover 12-inch - 15 inch pipe Aluminum Baffles to cover 18-inch pipe Aluminum Baffles to cover 24-inch pipe Flattened screen to cover 8 inch	pollu are, a @ @ @ @	ution-retardant ind all or other in \$	t devices , necessary a /Each /Each	including sta appurtenances. (Approx. 10) (Approx. 10)	inless \$ \$	3,565.00 3,795.00

sanitary sewer laterals over or under new drainage pipes, including replacing part of the lateral with 6-inch C-900 or DIP pipe, as required and approved by the Engineer of Record, and all or other necessary appurtenances.

@ \$_2,397.75 /EACH (Approx. 5)

\$ 11,988.75

- ITEM 11: Furnish all materials, labor, and equipment to relay 2-inch, and/or 3-inch PVC C-900 water service laterals over or under new pipes including replacing part of the lateral with 2-inch, and /or 3-inch Polyethylene PE 3408 pipe, as required and approved by the Engineer of Record, and all or other necessary appurtenances, approximately 5.
- @ \$_1,610.00 /EACH (Approx. 5)

ITEM 12: Furnish all materials, labor, and equipment to relay 4-inch, and/or 6inch C-900 water service laterals over or under new pipes including replacing part of the lateral with 4-inch, and/or 6-inch C 900 pipe, as required and approved by the Engineer of Record, and all or other necessary appurtenances, approximately 5.

@ \$_2,593.25 /EACH (Approx. 5)

\$ 12,966.25

ITEM 13: Furnish all materials, labor, and equipment to relay 8-inch, and /or 10-inch, water service laterals over or under new pipes including replacing part of the lateral with 8-inch, and/or 10-inch C900 PVC pipe, as required and approved by the Engineer of Record, and all or other necessary appurtenances, approximately 5.

\$_4,899.00 /EACH (Approx. 5)

\$ 24,495.00

- **ITEM 14**: Furnish all materials, labor, and equipment to **sawcut** existing asphalt, sidewalk, concrete curbing, concrete driveways, and paver blocks, approximately 300 linear feet.
- @ \$_____5.75____/L.F. (Approx. 300)

- \$ 1,725.00
- **ITEM 15**: Furnish all materials, labor, and equipment to construct standard **concrete sidewalk**.

a)	4 inches thick	@	\$ 3.57	_ /S.F.	(Approx. 900)	\$ 3,213.00	
b)	6 inches thick	@	\$ 4.77	_ /S.F.	(Approx. 500)	\$ 2,385.00	

^{\$ 8,050.00}

	Continued)							PROJECT 11780
<u>D</u>	base where removal of have 6-inch	chair e req existi ies r	acces uired, ng con ninimur	s ramps this inclu crete or a n_thickne	, inclue ides cl asphalt. ess. /	nt to construct co ding reconstruct earing, grubbin Concrete slat All ramps shall ce. Truncated o	ion of g and shall have	
	shall be Van	guaro prove dards	d ADA : ed equa	System (∖ al as per	/anguai FDOT	rd of Florida, 95 Roadway and	4-520-	
@	\$1,311.00 /EA	ACH ((Approx	. 5)			\$	6,555.00
	12-inch thic excavation, g	k (ir radin	n 6-inc g, remo	h lifts) ir oval and d	ncluding	(in two 4-inch lift g clearing, gruk of existing mate m 98%, T-180).	obina.	
a)		0	\$	10.12	_ /S.Y.	(Approx. 100)	\$	1,012.00
b)	6-inch limerock base	e @	\$	13.23	_/S.Y.	(Approx. 100)	\$	1,323.00
c)	8-inch limerock base	e @	\$	14.89	_ /S.Y.	(Approx. 100)	\$	1,489.00
d)	12-inch limerock base	@	\$	18.06	_ /S.Y.	(Approx. 200)	\$	3,612.00
				abor on	d equi	nmont to some	truct	
TE	EM 18: Furnish all concrete cur per Contract d	bs, a	and rec	onstructio	n of ba	ase (where requ	ired)	
	concrete cur	bs, a	and rec 5.	onstruction	n of ba	Ase (where requeint (Approx. 300)	ired)	5,175.00
a)	concrete cur per Contract d	bs , a letails	and rec 5. \$	onstructio	n of ba	ase (where requ	ired)	5,175.00 6,384.00
ITE a) o)	concrete cur per Contract d Type "D"	bs, a letails @	\$\$	onstruction	n of ba	ase (where requ (Approx. 300)	ired) \$	
a) 5)	concrete cur per Contract d Type "D" Type "F"	bs, a letails @ @	\$\$	onstruction 17.25 21.28	n of ba _ /L.F. _ /L.F.	ase (where requ (Approx. 300) (Approx. 300)	ired) \$ \$	6,384.00
a) 5) 5)	concrete cur per Contract d Type "D" Type "F" Drop Curb	bs, a letails @ @ @	\$ \$ \$ \$	onstruction 17.25 21.28 21.28	n of ba _ /L.F. _ /L.F. _ /L.F.	ase (where requ (Approx. 300) (Approx. 300) (Approx. 300)	ired) \$ \$ \$	6,384.00 6,384.00
a) 5) 5)	concrete cur per Contract d Type "D" Type "F" Drop Curb Valley gutter Type "A" median	ibs, a letails @ @ @ @	\$ \$ \$ \$ \$	onstruction 17.25 21.28 21.28 21.28 21.28 18.40	n of ba _ /L.F. _ /L.F. _ /L.F. _ /L.F.	ase (where requ (Approx. 300) (Approx. 300) (Approx. 300) (Approx. 300)	ired) \$ \$ \$	6,384.00 6,384.00 6,384.00

1

C-34(i)

PROJECT 11780

(Continued)

ITEM 19: Furnish all materials, labor and equipment to construct new, **paving blocks** of various shapes over sand-leveling course (in City Details and Standards).

a)	2 3/8 inch thick concrete paver	@	\$ 10.47	/S.F.	(Approx. 100)	\$ 1,047.00
b)	3 1/8 inch thick concrete paver	@	\$ 10.75	/S.F.	(Approx. 100)	\$ 1,075.00
c)	8x4x2-1/4 Chicago brick clay paver	@	\$ 11.16	/S.F.	(Approx. 100)	\$ 1,116.00
d)	4 inch thick Stamp Concrete paver	@	\$ 7.88	_ /S.F.	(Approx. 100)	\$ 788.00
e)	3 1/8 inch pervious paver	@	\$ 20.70	_/S.F.	(Approx. 100)	\$ 2,070.00
f)	Pervious pavers per Detail Spec DS-48	@	\$ 20.70	_ /S.F.	(Approx. 500)	\$ 10,350.00

ITEM 20: Furnish all materials, labor, and equipment to **remove and dispose** of existing asphalt and concrete (at various depths), concrete sidewalks, concrete driveways, concrete curb and gutter, concrete curbing, paver blocks, existing storm/sanitary structures (any size), landscape and trees of various sizes(see schedule of values), existing pipes (any size), and limerock base.

a)	Asphalt removal	@	\$	4.54	_ /S.Y.	(Approx. 400)	\$	1,816.00
b)	Concrete removal	@	\$	5.75	_ /S.Y.	(Approx. 400)	\$_	2,300.00
c)	Concrete sidewalk	@	\$	0.92	_ /S.F.	(Approx. 1000)	\$	920.00
d)	Concrete driveways	@	\$_	0.98	_ /S.F.	(Approx. 1000)	\$	980.00
e)	Concrete curbing	@	\$_	2.53	_ /L.F.	(Approx. 400)	\$	1,012.00
f) g)	Stamped concrete Paver blocks	@	\$_	0.98	/S.F.	(Approx. 50)	\$	49.00
9/	removal	@	\$	0.92	/S.F.	(Approx. 200)	\$	184.00
h)	Storm/Sanitary Structure	@	\$_	701.50	/EACH	(Approx. 10)	\$	7,015.00
i)	Existing pipes	@	\$_	9.37	/L.F.	(Approx. 100)	\$	937.00
j)	Limerock base removal	@	\$_	6.73	/S.Y.	(Approx. 400)	\$	2,692.00

C-34(j)

	ontinued)							PROJEC	1 1178
ITE	M 20 (CONTINUED)								
k)	6" diameter &								I
	smaller trees	@	\$	333.50	_ /EACH	(Approx. 20)	\$_	6,670.00	
I)	8" diameter trees	@	\$	333.50	_ /EACH	(Approx. 20)	\$_	6,670.00	
m)	10"-12" trees	@	\$	364.55	/EACH	(Approx. 20)	\$	7,291.00	
n)	Landscaping of various types of shrubs, etc.	Ø	\$	1.44	/L.F.	(Approx 50)	¢	72.00	
	shrubs, etc.	@	Þ	1,44	_ /L.F.	(Approx. 50)	\$_	72.00	
	square yards).								
0	1170 /01/		A	E CON					
@ \$ <u>ITEN</u>	<u>// 22a</u> : Furnish all mat thick asphalti	terials ic co	s, lab	te surfa	ce, either	FDOT Type I	ll or	5,895.00	
	<i>I 22a</i> : Furnish all mat thick asphalt FDOT Type S and all or othe square yards.	terials ic co -1, ind r nec	s, lab ncre	or and ec te surfac	ce , either ng, prime		inch II or coat,	5,895.00	
	<u>I 22a</u> : Furnish all mai thick asphalti FDOT Type S and all or othe	terials ic co -1, inc r nec	s, lab oncre cludir essa	or and ec te surfac	ce , either ng, prime o enances, a	FDOT Type I coat or a tack of	inch II or coat,	5,895.00 23,540.00	
<u>ITEN</u> @ \$	<i>I 22a</i> : Furnish all mat thick asphalt FDOT Type S and all or othe square yards.	terials ic co -1, ind r nec (/ erials ED as g san	s, labo ncre cludir essar Appro , labo spha ding,	or and ec te surfac ng sandin ry appurte ox. 2,200) or and eq iltic cone prime co	ce, either ng, prime o enances, a) uipment to crete sur oat or a ta	FDOT Type I coat or a tack of approximately 2 construct 11 ¹ / ₂ -i face, (per cont ack coat, and a	inch II or coat, ,200 \$		
<u>ITEN</u> @ \$	 1 22a: Furnish all mathick asphaltic FDOT Type Seand all or othe square yards. <u>10.70</u> /S.Y. 122b: Furnish all mathick STAMPE detail) including other necessativards. 	terials ic co -1, ind r nec (/ erials ED as g san	s, labo ncre cludir essai Appro , labo s pha ding, ppurt	or and ec te surfac ng sandin ry appurte ox. 2,200) or and eq iltic cone prime co	ce, either ng, prime o enances, a) uipment to crete sur oat or a ta	FDOT Type I coat or a tack of approximately 2 construct 11 ¹ / ₂ -i face, (per cont ack coat, and a	inch II or coat, ,200 \$		
<u>ITEN</u> @ \$ <u>ITEN</u> @ \$	 1 22a: Furnish all mathick asphaltic FDOT Type Seand all or othe square yards. <u>10.70</u> /S.Y. 122b: Furnish all mathick STAMPE detail) including other necessativards. 	terials ic co -1, ind r nec (/ erials ED as g san ry ap (/ rerials phalt tions appr	s, labo ncre cludir essai Appro , labo spha ding, ppurt Appro	or and ec te surfacting sandin ry appurte ox. 2,200) or and eq litic cone prime co enances, ox. 250) or and ec vement is on (<u>www</u> equal),	ce, either ng, prime o enances, a puipment to crete sur oat or a ta approxin quipment n conform <u>.kbius.com</u> including	FDOT Type I coat or a tack of approximately 2 b construct 11 ¹ / ₂ -i face, (per cont ack coat, and a nately 250 squ to construct 2-i nance with FLE n), product HD2 all or necess	inch II or coat, ,200 \$	23,540.00	

(C	Continue	d)							PROJECT 11
<u>IT</u>	<u>EM 23</u> :	"Floratam" a Record, inclu	and B Iding r	ahia emov	sod aut al and dis	thorized posal of	to lay St. Aug by the Engine debris and all or 00 square yards	er of other	*
a)	Bahia	sod	@	\$	2.59	/S.Y.	(Approx. 500)	\$	1,295.00
b)	St. Au	ugustine sod	@	\$	3.00	/S.Y.	(Approx. 500)	\$	1,500.00
ITE	<u>EM 24</u> :	Furnish all thermoplast i			, labor It markings		uipment to ing temporary pai	nstall int.	
a)	Temp	orary paint	@	\$	0.58		(Approx. 100)	\$	58.00
b)		rmoplastic or yellow)	@	\$	0.86		(Approx. 100)	\$	86.00
c)		rmoplastic , blue, or)	@		1.09	/L.F.	(Approx. 100)	\$	109.00
d)		moplastic e yellow)	@		1.50	/L.F.	(Approx. 100)	\$	150.00
e)		ermoplastic stop bar)	@	_	3.74	/L.F.	(Approx. 100)	\$	374.00
f)	10"-12" thermo or yello	plastic (white	@		2.01	/L.F.	(Approx. 100)	\$	201.00
<u>ITEI</u>	i	ncluding exca debris and all	vation or othe	, grad er ne	ding, remo cessary a	oval and	o construct sw disposal of soil nces, excluding	and	
a)	v	which is covere	ed in s	epara	ate item.				
	D4-1	g per Detail	@ \$	6	41.17	_ /C.Y.	(Approx. 100)	\$	4,117.00
	Swaling D4.2) per Detail							

17

1

11

c)

 D4.2
 @ \$ ____2.48
 /C.Y. (Approx. 200) \$ ____4,496.00

 Swaling per Detail

 P2.1
 @ \$ _____162
 /S.Y. (Approx. 200) \$ ______324.00

C-34(l)

- **ITEM 26**: Furnish all materials, labor, and equipment necessary to drill and install Class V storm drainage well, per detail DS-2. This item shall include clearing all existing landscaping, stabilization of materials, excavation, grading, removal and disposal of soil debris, dewatering set up and permits, drainage truck, the installation of 24" solid DIP casing (part a) and 24" perforated PVC (part b) and all or other necessary appurtenances required by safety and environmental regulations.
 - a) 24" solid DIP casing (0.375 thickness) depth varies (100'-250'). Assume up to 100-feet deep and provide cost per additional Linear Feet deeper than 100-Feet based on assumption of 50 additional feet.

@\$_	126.50	/up to 100'	(Up to 100 FT Deep 24"-Solid DIP)	\$	12,650.00
@\$	161.00	/ addt'l LF.	(assume 50 addt'l feet - 24" solid DIP)	\$	8,050.00
<u> </u>			,	Ψ	0,000.00

 b) 24" perforated PVC casing. (C-900) depth varies (80'-150'). Assume up to 80-feet deep and provide cost per additional Linear Feet deeper than 80-Feet based on assumption of 50 additional feet (but it could be more)

@ \$	\$	126.50	_ / up to 80'	(One 80 FT Deep 24" Perforated PVC)	\$ 10,120.00
@\$	§	161.00	_ / addt'l LF.	(assume 50 addt'l feet- Perf. 24" PVC)	\$ 8,050.00

ITEM 27: Furnish all materials, labor, and equipment to install a concrete drainage well vault, as shown on detail DS-3. This item includes excavation, dewatering, grading, removal, 8" compacted limerock base, 12" compacted subgrade, side stabilization, frame & grate, disposal of soil & debris, and all or other necessary appurtenances required by safety and environmental regulations.

@ \$_9,798.00 /EACH (One Vault)

\$ 9,798.00

ITEM 28: PERVIOUS CONCRETE: Furnish all materials, labor, and equipment to construct 4-inch or 6-inch thick pervious concrete, including subgrade treatment, protection of surface during curing period, and other requirements. (Installation must be performed by <u>"Certified Contractor"</u>, per FCPA and HRMCA) per specification section, see DS-47. Approximately 500 Square Feet.

(C	ontinued)						PROJECT 11	780
<u>ITI</u>	EM 28 CONTINUED):							
a)	4-inch thick pervious concrete	@	\$ 7.82	/S.F.	(Approx. 500)	\$	3,910.00	
b)	6-inch thick pervious concrete	@	\$ 10.12	_ /S.F.	(Approx. 500)	♥ \$	5,060.00	

ITEM 29: Furnish all materials, labor, and equipment to construct and install **CheckMate Inline Tideflex valves** with all fittings; including excavation, grading, removal, and disposal of soil and debris and all other necessary appurtenances, excluding sod, which is covered in separate item. See <u>www.Tideflex.com</u> for latest checkmate inline valve details & specifications.

INSTALLED ON ANY PIPE MATERIAL:

a	a) 4-inch	@\$	1,684.75	/EACH	(Approx. 5)	\$ 8,423.75
b) 6-inch	@\$	1,972.25	/EACH	(Approx. 5)	\$ 9,861.25
С) 8-inch	@\$	2,581.75	/EACH	(Approx. 10)	\$ 25,817.50
d) 10-inch	@\$	3,191.25	/EACH	(Approx. 10)	\$ 31,912.50
е) 12-inch	@\$	3,455.75	/EACH	(Approx. 10)	\$ 34,557.50
f)	15-inch	@\$	6,647.00	/EACH	(Approx. 10)	\$ 66,470.00
g) 18-inch	@\$	7,555.50	/EACH	(Approx. 5)	\$ 37,777.50
h) 24-inch	@\$	9,499.00	_ /EACH	(Approx. 3)	\$ 28,497.00
i)	30-inch	@\$	15,318.00	/EACH	(Approx. 3)	\$ 45,954.00
j)	36-inch	@\$	18,112.50	/EACH	(Approx. 2)	\$ 36,225.00
k)	42-inch	@\$	28,514.25	/EACH	(Approx. 2)	\$ 57,028.50
I)	48-inch	@\$	40,957.25	/EACH	(Approx. 2)	\$ 81,914.50

ITEM 30: Furnish all materials, labor, and equipment to construct and install **ALUMINUM manatee grate, per FDOT Index #230**, with all fittings; including excavation, grading, removal, and disposal of soil and debris and all or other necessary appurtenances, excluding sod which is covered in separate item.

a)	8-inch	@	\$ 605.99	/EACH	(Approx. 10)	\$ 6,059.90
b)	10-inch	@	\$ 634.92	/EACH	(Approx. 10)	\$ 6,349.20
c)	12-inch	@	\$ 808.22	/EACH	(Approx. 10)	\$ 8,082.20

ITEM 30 (CONTINUED)

15-inch	@\$	941.91	/EACH	(Approx. 5)	\$	4,709.55
18-inch	@\$	957.64	/EACH			2,872.92
24-inch	@\$	1,259.77	/EACH			3,779.31
30-inch	@\$	1,530.42	/EACH			3,060.84
36-inch	@\$	1,780.32	/EACH		\$	3,560.64
42-inch	@\$	2,357.50	/EACH		\$	4,715.00
48-inch	@\$_	2,518.62	/EACH	(Approx. 2)	\$	5,037.24
	18-inch 24-inch 30-inch 36-inch 42-inch	18-inch @ \$ 24-inch @ \$ 30-inch @ \$ 36-inch @ \$ 42-inch @ \$	18-inch @ \$ 957.64 24-inch @ \$ 1,259.77 30-inch @ \$ 1,530.42 36-inch @ \$ 1,780.32 42-inch @ \$ 2,357.50	18-inch @ \$	18-inch @ \$	18-inch @ \$77.4 /EACH (Approx. 3) \$ 24-inch @ \$759.77 /EACH (Approx. 3) \$ 30-inch @ \$730.42 /EACH (Approx. 2) \$ 36-inch @ \$780.32 /EACH (Approx. 2) \$ 42-inch @ \$757.50 /EACH (Approx. 2) \$

ITEM 31 a): Furnish all materials, labor and equipment to **MILL & RESURFACE** existing asphalt pavement to a depth of 1", including disposal of all materials <u>for work orders up to 500</u> square yards.

\$ 7,505.00

- **ITEM 31 b)** Furnish all materials, labor and equipment to **MILL & RESURFACE** existing asphalt pavement to a depth of 1"including disposal of all materials <u>for work orders greater</u> <u>than 500 square yards.</u>
- @ \$ 12.13 /S.Y. (Approx. 1,000)

\$ 12,130.00

ITEM 32: Furnish all materials, labor, and equipment to **core drill** existing seawalls to install outfall drainage pipes of various sites including excavation, grading, removal, and disposal of soil and debris and all other necessary appurtenances, excluding sod which is covered in separate item.

a)	10-inch outfall pipe core drill	@\$	2,024.00	/EACH	(Approx. 10)	\$	20,240.00
b)	12-inch outfall pipe core drill	@\$	2,311.50	/EACH	(Approx. 10)	• _ \$	23,115.00
c)	15-inch outfall pipe core drill	@\$	3,036.00	/EACH	(Approx. 10)	\$	30,360.00
d)	18-inch outfall pipe core drill	@\$	3,467.25	_ /EACH	(Approx. 10)	\$	34,672.50

ITEM 32 (CONTINUED)

e)	24-inch outfall pipe core drill	@\$	3,484.50	/EACH	(Approx. 5)	\$ 17,422.50
f)	30-inch outfall pipe core drill	@\$	4,203.25	_ /EACH	(Approx. 5)	\$ 21,016.25
g)	36-inch outfall pipe core drill	@\$	3,898.50	_ /EACH	(Approx. 3)	\$ 11,695.50
h)	48-inch outfall pipe core drill	@\$	5,002.50	/EACH	(Approx. 3)	\$ 15,007.50

ITEM 33: Furnish all materials, labor, and equipment to install and construct **straight concrete endwalls**, per FDOT Index #250; including excavation, grading, removal, and disposal of soil and debris and all other necessary appurtenances, excluding sod which is covered in separate item.

For 10-inch outfall pipe	@	\$	2,328.75	/EACH	(Approx. 10)	\$_	23,287.50
For 12-inch outfall pipe	@	\$	2,328.75	/EACH	(Approx. 10)	\$	23,287.50
For 15-inch outfall pipe	@ :	\$	2,650.75	/EACH	(Approx. 10)	\$_	26,507.50
For 18-inch outfall pipe	@ :	\$	2,696.75	_ /EACH	(Approx. 10)	\$	26,967.50
For 24-inch outfall pipe	@ \$	\$	3,421.25	_ /EACH	(Approx. 5)	\$	17,106.25
For 30-inch outfall pipe	@\$	6	3,588.00	_ /EACH	(Approx. 3)	\$	10,764.00
For 36-inch outfall pipe	@\$;	4,272.25	_ /EACH	(Approx. 3)	\$	12,816.75
For 48-inch outfall pipe	@\$	12	2,540.75	_ /EACH	(Approx. 2)	\$	25,081.50
For 72-inch outfall pipe	@\$	_17	7,250.00	_ /EACH	(Approx. 2)	\$	34,500.00
	outfall pipe For 12-inch outfall pipe For 15-inch outfall pipe For 18-inch outfall pipe For 24-inch outfall pipe For 30-inch outfall pipe For 36-inch outfall pipe For 48-inch outfall pipe For 72-inch	outfall pipe@For 12-inch outfall pipe@For 15-inch outfall pipe@For 15-inch outfall pipe@For 18-inch outfall pipe@For 24-inch outfall pipe@For 30-inch outfall pipe@For 30-inch outfall pipe@For 36-inch outfall pipe@For 48-inch outfall pipe@For 72-inch@	outfall pipe@ \$For 12-inch outfall pipe@ \$For 15-inch outfall pipe@ \$For 15-inch outfall pipe@ \$For 15-inch outfall pipe@ \$For 18-inch outfall pipe@ \$For 24-inch outfall pipe@ \$For 24-inch outfall pipe@ \$For 30-inch outfall pipe@ \$For 36-inch outfall pipe@ \$For 36-inch outfall pipe@ \$For 48-inch outfall pipe@ \$ _12For 72-inch	outfall pipe@ \$ 2,328.75For 12-inch outfall pipe@ \$ 2,328.75For 15-inch outfall pipe@ \$ 2,650.75For 15-inch outfall pipe@ \$ 2,696.75For 18-inch outfall pipe@ \$ 2,696.75For 24-inch outfall pipe@ \$ 3,421.25For 30-inch outfall pipe@ \$ 3,588.00For 36-inch 	outfall pipe@ \$ _2,328.75 /EACHFor 12-inch outfall pipe@ \$ _2,328.75 /EACHFor 15-inch outfall pipe@ \$ _2,650.75 /EACHFor 15-inch outfall pipe@ \$ _2,696.75 /EACHFor 18-inch outfall pipe@ \$ _2,696.75 /EACHFor 24-inch outfall pipe@ \$ _3,421.25 /EACHFor 30-inch outfall pipe@ \$ _3,588.00 /EACHFor 36-inch outfall pipe@ \$ _4,272.25 /EACHFor 36-inch outfall pipe@ \$ _12,540.75 /EACHFor 48-inch outfall pipe@ \$ _12,540.75 /EACH	outfall pipe @ \$ 2,328.75 /EACH (Approx. 10) For 12-inch outfall pipe @ \$ 2,328.75 /EACH (Approx. 10) For 15-inch outfall pipe @ \$ 2,650.75 /EACH (Approx. 10) For 15-inch outfall pipe @ \$ 2,696.75 /EACH (Approx. 10) For 18-inch outfall pipe @ \$ 2,696.75 /EACH (Approx. 10) For 24-inch outfall pipe @ \$ 3,421.25 /EACH (Approx. 5) For 30-inch outfall pipe @ \$ 3,588.00 /EACH (Approx. 3) For 36-inch outfall pipe @ \$ 4,272.25 /EACH (Approx. 3) For 48-inch outfall pipe @ \$ 12,540.75 /EACH (Approx. 2) For 72-inch @ \$ 12,540.75 /EACH (Approx. 2)	outfall pipe @ \$ _2,328.75 /EACH (Approx. 10) \$

C-34(p)

ITEM 34: Furnish all materials, labor, and equipment necessary to install C-900 drainage pipe by **directional boring**, including but not limited to: contractor to perform soil boring tests to find out the soil conditions, selection of machinery, unloading, stringing, excavating, dewatering, removal and disposal of unsuitable materials, bedding, pipe laying, core drilling concrete seawalls or catch basins, connecting new pipe to existing catch basins, backfilling, compacting, restoring project area back to original condition or better, including adjustments of valves, rims, covers, compliance with Florida Safety Act (90-96, Laws of Florida), and all other necessary appurtenances.

DIRECTIONAL DRILLING C-900 PIPE:

a)	12 inches	@	\$	226.55	/L.F.	(Approx. 100)	\$ 22,655.00
b)	15 inches	@	\$	291.30	_ /L.F	(Approx. 100)	\$ 29,130.00
c)	18 inches	@	\$	368.58	_ /L.F	(Approx. 100)	\$ 36,858.00
d)	24 inches	@	\$_	440.80	_ /L.F	(Approx. 100)	\$ 44,080.00

ITEM 35: Provide **MAINTENANCE AND REPAIR SERVICES**, to existing valves installed on storm pipes/inlets including the following tasks:

- a) Remove all debris and standing water from basins and drainage pipes using a dewatering pump, dewatering box (es) and silt fence at basins prior to discharge.
- Remove any pollution retardant baffles or any other appurtenance impeding access to outfall pipes and valves.
- c) Clean debris inside the valve and outfall pipe
- d) Inspect the materials and working condition of the valve
- e) Tighten the clamps on the valve if needed
- f) Re-install the pollution retardant baffle in the storm basin
- g) Close basin with the grate or cover, and
- h) Write an inspection report to be provided to contract manager.

Notes:

- 1) Valve maintenance work to be performed at low tide
- A City inspector must be present (and called by the contractor prior to start work) to verify the maintenance work and dewatering set-up.

C-34(q)

PROJECT 11780

@ \$_6,445.75 /LOCATION (Approx. 50 locations)

\$ 322,287.50

NOTE: All items must be filled in, otherwise the bid would be considered non-responsive.

TOTAL ITEMS 1 Through 35

\$2,953,358.00

Two Million Nine Hundred Fifty Three Thousand Three Hundred Fifty Eight Dollars and Zero Cents

(TOTAL WRITTEN DOLLAR AMOUNT)

The City of Fort Lauderdale reserves the right to waive any informality in any bid and to reject any or all bids. The City of Fort Lauderdale reserves the right to reduce or delete any of the above items. All quantities are estimated and the City reserves the right to increase, reduce, or eliminate the contract quantities in any amount.

The City intends to award contract to the three (3) contractors providing the lowest bid amounts. The selected contractors will receive work orders during the effective term of the contract, and **each work order requires a performance bond equals to 100% of the cost of the work.** The selected contractors will receive engineering plans, details, and specifications for each work order to produce a detailed cost estimate based on the contract's unit prices. After the project manager reviews and approves the cost estimate, the work order is prepared for City Manager's or City Commission's approval prior to issuing a Notice to Proceed to the contractor.

At time of award of contract, the City reserves the right to set a minimum dollar limit that may be expended on this project. Contract quantities of any or all items may be increased, reduced, or eliminated to adjust the contract amount to coincide with the amount of work necessary or to bring the contract value to within the established limit. All quantities are estimated and the City reserves the right to increase, reduce, or eliminate the contract quantities in any amount. The City alone shall make all determinations of work orders award and distribution as described under the terms of this contract.

IN WITNESS WHEREOF, the Parties have caused this Agreement to be executed as follows:

CONTRACTOR:

Ric-Man Construction Florida, Inc.

WITNESSES: Signature) ROZON

FAUSTD A. (Witness print/type name)

(Signature)

(Witness print/type name)

(Corporate Seal)

Bv (Signature)

Print Name and Title) KE

Attest By:

(Signature) CATALINA MANCINI (Print/type name)

CITY:

City of Fort Lauderdale, a municipal corporation of the State of Florida

By FELDMAN, City Manager

ATTEST:

By JONDA K. JOSE

APPROVED AS TO FORM: By: CARRIE L. SARVER Assistant City Attorney

C-35

(Corporate Seal)

1	CORD CER	TI	FI(CATE OF LIA	BILITY	SUR		DATE (MM/DD/YYYY)
1	THIS CERTIFICATE IS ISSUED AS A CERTIFICATE DOES NOT AFFIRMAT BELOW. THIS CERTIFICATE OF IN REPRESENTATIVE OR PRODUCER, A	MA	TTER	R OF INFORMATION ONL DR NEGATIVELY AMEND, E DOES NOT CONSTITU	Y AND CONFERS	NO RIGHT	S UPON THE CERTIFIC	
1	MPORTANT: If the certificate holder he terms and conditions of the policy certificate holder in lieu of such endor	is a , ce	n Al tain	DDITIONAL INSURED, the policies may require an e	policy(ies) must b ndorsement. A sta	e endorsed	I. If SUBROGATION IS this certificate does not	WAIVED, subject to confer rights to the
	DDUCER	sem	eng	51.				
Bro	own & Brown of Detroit			586-977-6300	Traine.			
357 Ste). Box 8029 '35 Mound Road rling Heights, MI 48311-8029			586-977-6780	(A/C, No, Ext): E-MAIL ADDRESS:		AX (A/C, No):
Bri	an Pilarski				IN	SURER(S) AFF	ORDING COVERAGE	NAIC #
INC	URED Ric-Man Construction				INSURER A : Illinois			23817
inoi	URED Ric-Man Construction Florida Inc				INSURER B : Comm			19410
	3100 SW 15th St.				INSURER C : Chartis	Property	Casualty Co.	19402
	Deerfield Beach, FL 3344	2			INSURER D : Great A			16691
					INSURER E :			10001
					INSURER F :			
	VERAGES CER	TIFI	CAT	E NUMBER:			REVISION NUMBER:	
T	HIS IS TO CERTIFY THAT THE POLICIES DICATED. NOTWITHSTANDING ANY RE	OF	INSU	RANCE LISTED BELOW HAV	E BEEN ISSUED TO	THE INSUR		
CE	ERTIFICATE MAY BE ISSUED OR MAY I XCLUSIONS AND CONDITIONS OF SUCH	PERT	CIES	THE INSURANCE AFFORDE	D BY THE DOLLOF	OR UTHER	DOCUMENT WITH RESPE	O ALL THE TERMS,
LTR	TYPE OF INSURANCE	ADDL			POLICY EFF (MM/DD/YYYY)	POLICY EXP		TR
	GENERAL LIABILITY		1		1		EACH OCCURRENCE	s 1,000,00
A	X COMMERCIAL GENERAL LIABILITY	X	X	GL6576306	06/01/13	06/01/14	DAMAGE TO RENTED	a second of the second se
	CLAIMS-MADE X OCCUR						PREMISES (Ea occurrence)	\$ 300,00
	X Contractual&XCU						MED EXP (Any one person)	\$ 15,00
	X PerLocation						PERSONAL & ADV INJURY	\$ 1,000,00
	GEN'L AGGREGATE LIMIT APPLIES PER						GENERAL AGGREGATE	\$ 2,000,00
						_	PRODUCTS - COMP/OP AGG	\$ 2,000,00 \$
	(T)						COMBINED SINGLE LIMIT (Ea accident)	s 1,000,00
4	X ANY AUTO ALL OWNED SCHEDULED		X	CA1949660	06/01/13	06/01/14	BODILY INJURY (Per person)	S
3	AUTOS AUTOS	- 3					BODILY INJURY (Per accident)	\$
-	HIRED AUTOS AUTOS						PROPERTY DAMAGE (Per accident)	\$
								\$
	X UMBRELLA LIAB X OCCUR						EACH OCCURRENCE	\$ 10,000,000
3	EXCESS LIAB CLAIMS-MADE			BE13466612	06/01/13	06/01/14	AGGREGATE	\$ 10,000,000
	DED X RETENTION \$ 10000							s 10,000,000
	WORKERSCOMPENSATION AND EMPLOYERS' LIABILITY				1		X WC STATU- TORY LIMITS ER	3
	ANY PROPRIETOR/PARTNER/EXECUTIVE			WC025889505	06/01/13	06/01/14	E L EACH ACCIDENT	1 000 000
1	(Mandaton In NH)	N/A						<u>s</u> 1,000,000
	If yes, describe under DESCRIPTION OF OPERATIONS below						E L DISEASE - EA EMPLOYEE	The local division of
	PollutionLiab			PCE391512601	06/01/13	06/01/14	EL DISEASE - POLICY LIMIT	
		1			00/01/15		Limit	10,000,000
. 1		1					Ded	25,000
ity er f s 289	RIPTION OFOPERATIONS/LOCATIONS/VEHICLE of Fort Lauderdale is inc 61712 attached, and waiver subrogation applies to City 97 attached.30 days notice terms & conditions of the	lud of of	ed su Fo	as an addl insd for brogation per CG240 rt Lauderdale for a cellation will be	r general liab 04 attached. A auto liablity	vaiver per		
ER				the second s	ANCELLATION			
				CITYFLA	SHOULD ANY OF TH THE EXPIRATION ACCORDANCE WITH	DATE THE	SCRIBED POLICIES BE CA REOF, NOTICE WILL BI PROVISIONS,	NCELLED BEFORE E DELIVERED IN
	Lity of Fort Lauderdale							
	City of Fort Lauderdale							
	100 N. Andrews Avenue			AI	UTHORIZED REPRESENT	ATIVE		
				AI		ATIVE		

The ACORD name and logo are registered marks of ACORD

ENDORSEMENT

This endorsement, effective 12:01 A.M. 06/01/2013 forms a part of

policy No.GL 657-63-06 issued to RIC-MAN CONSTRUCTION, INC.

by ILLINOIS NATIONAL INSURANCE CO

THIS ENDORSEMENT CHANGES THE POLICY. PLEASE READ IT CAREFULLY.

ADDITIONAL INSURED - WHERE REQUIRED UNDER CONTRACT OR AGREEMENT

This endorsement modifies insurance provided under the following:

COMMERCIAL GENERAL LIABILITY COVERAGE FORM

SECTION II - WHO IS AN INSURED, is amended to include as an additional insured:

Any person or organization to whom you become obligated to include as an additional insured under this policy, as a result of any contract or agreement you enter into which requires you to furnish insurance to that person or organization of the type provided by this policy, but only with respect to liability arising out of your operations or premises owned by or rented to you.

However, the insurance provided will not exceed the lesser of:

- . The coverage and/or limits of this policy, or
- . The coverage and/or limits required by said contract or agreement.

Authorized Representative or Countersignature (in States Where Applicable)

Page 1 of 1

61712 (12/06)

POLICY NUMBER: GL 657-63-06

COMMERCIAL GENERAL LIABILITY CG 24 04 05 09

WAIVER OF TRANSFER OF RIGHTS OF RECOVERY AGAINST OTHERS TO US

This endorsement modifies insurance provided under the following:

COMMERCIAL GENERAL LIABILITY COVERAGE PART PRODUCTS/COMPLETED OPERATIONS LIABILITY COVERAGE PART

SCHEDULE

Name Of Person Or Organization: Any person or organization requiring a walver of transfer of rights of recovery pursuant to the terms of any contract or agreement you enter into with such person or organization.

Information required to complete this Schedule, if not shown above, will be shown in the Declarations.

The following is added to Paragraph 8. Transfer Of Rights Of Recovery Against Others To Us of Section IV - Conditions:

We waive any right of recovery we may have against the person or organization shown in the Schedule above because of payments we make for injury or damage arising out of your ongoing operations or "your work" done under a contract with that person or organization and included in the "products-completed operations hazard". This waiver applies only to the person or organization shown in the Schedule above.

CG 24 04 05 09

ENDORSEMENT

This endorsement, effective 12:01 A.M. 06/01/2013 forms a part of

policy No. CA 194-96-60 issued to RIC-MAN CONSTRUCTION, INC.

by ILLINOIS NATIONAL INSURANCE CO

THIS ENDORSEMENT CHANGES THE POLICY. PLEASE READ IT CAREFULLY.

WAIVER OF TRANSFER OF RIGHTS OF RECOVERY AGAINST OTHERS TO US

This endorsement modifies insurance provided under the following:

BUSINESS AUTO COVERAGE FORM

Section IV - Business Auto Conditions, A. - Loss Conditions, 5. - Transfer of Rights of Recovery Against Others to Us, is amended to add:

However, we will waive any right of recover we have against any person or organization with whom you have entered into a contract or agreement because of payments we make under this Coverage Form arising out of an "accident" or "loss" if:

- (1) The "accident" or "loss" is due to operations undertaken in accordance with the contract existing between you and such person or organization; and
- (2) The contract or agreement was entered into prior to any "accident" or "loss".

No waiver of the right of recovery will directly or indirectly apply to your employees or employees of the person or organization, and we reserve our rights or lien to be reimbursed from any recovery funds obtained by any injured employee.

NTATIVE AUTHORIZED

62897 (6/95)

ACKNOWLEDGEMENT OF CONTRACTOR

STATE OF: FLORIDA		
COUNTY OF: BROWNED		
	edged before me this <u>//</u> day of <u>Ser</u>	
	, <u>tNC</u> , a	
	n, who is 🗹 personally known to me or 🗌	
as identifica	ation.	
(SEAL)	Notary Public, State of Florida	
Notary Public State of Florida Esther Zoblin My Commission FF 042607 Expires 09/28/2017	(Signature of Notary taking Acknow	vledgement)

Esther Zoldin Name of Notary Typed, Printed or Stamped

My Commission Expires: 09/2017

FF 042607 Commission Number